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Introduction:
This is a set of lecture notes taken from UChicago’s PHYS 323 (Advanced Electrodynamics II), taught by
David Kutasov. Topics covered include Special Relativity, Relativistic Formulations of the Free Particle &
Maxwell Theory, The Lagrangian Formulation of Electromagnetism, Symmetries and the Stress Tensor,

Plane Waves, Charged Particle Motion and Radiation, Radiation from Continuous Sources,
Electromagnetic Fields in Media, The Lorentz Model for Permittivity, Magnetohydrodynamics, and

Geometric Optics.
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1 Relativistic Kinematics

Course logistics - see syllabus.

1.1 Symmetries of Classical Mechanics

We will start with Ch. 8/9 of Wald’s book, and discuss relativistic kinematics.
The basic fact discovered after the formulation of Maxwell’s theory of electromagnetism is that there is

a clash between Maxwell’s theory (Lorentz invariance) and the symmetries of classical mechanics (Galilean
invariance). We will start by reviewing these symmetries, and then discuss how to promote these symme-
tries to field theory.

Consider the following (relatively general) class of problems. We have N particles, labelled by coordi-
nates x1(t), x2(t), . . . , xN(t), which have pairwise interactions that only depend on the particle separation
Vij(|xi − xj|). In classical mechanics (as you learned two quarters ago), we use a Lagrangian to describe
the system:

L =
1
2

N

∑
i=1

mi ẋ2
i − ∑

i<j
Vij(|xi − xj|) (1.1)

and we have the Euler-Lagrange equation(s) which are the equations of motion of the system:

mi ẍi = −∇i ∑
y ̸=i

Vij(|xi − xj|) (1.2)

where we work in 3-dimensions, so xi = (xi, yi, zi) and ∇i = (
∂

∂xi
,

∂

∂yi
,

∂

∂zi
). This theory has a couple

symmetries (i.e. if we have a solution to the equations of motion, under some transformation the equations
are still solutions. This manifests as a transformation that leaves L invariant):

1. Translational invariance:
xi → xi + a (1.3)

The kinetic term does not change because the a is not time-dependent (and hence is killed by the
time derivative) and the potential term does not change because the potential only depends on the
difference of the positions (and hence the as cancel). Physically, we can take our entire system and
shift it over by a and nothing changes. Why are we wasting our time with this nonsense? Thanks to
Noether, we know that this symmetry that looks nontrivial implies momentum conservation.

2. Time translation invariance:
t → t + t0 (1.4)

Again, we see that this is a symmetry of L because there is no explicit time-dependence in the
Lagrangian. Noether tells us that this implies energy conservation.

3. Rotational invariance:
xi → Rxi (1.5)

for a rotation matrix R, i.e. that satisfying RRt = RtR = I. The origin of this symmetry is that there
is no preferred direction in space. Noether tells us that this implies angular momentum conservation.

4. Boost invariance:
xi → xi − vt (1.6)

The previous 3 symmetries seem so robust that it seems like things cannot go wrong. Indeed, it
is this fourth symmetry that must be modified when we consider the Maxwell theory. What this
symmetry means is if we take the entire system and put it on a train going on a constant velocity
relative to us, the physics of the system look the same (e.g. if we take the solar system and put it on
a galactic train, the motion of the planets are left invariant).
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What about other transformations that depend on time? For example a transformation that depends on
t2? This would not be a symmetry - indeed we can feel if we are in an airplane and we are accelerating.
This leads to the notion of an inertial frame. If we have some frame in which Newton’s equations are valid,
then any other frame that differs from our original frame via a boost will also be inertial. But accelerating
frames are not inertial.

1.2 Symmetry Group, Invariants of Classical Mechanics

The symmetry group describing the symmetries of classical mechanics is the Galilean group. It is 10-
dimensional; there are:

• 3 spatial translation symmetries

• 1 time translation symmetry

• 3 rotation symmetries

• 3 boost symmetries

Side note - people like to divide the Galilean group into the homogenous Galilean group (rotations and
boosts - which map coordinates under linear combinations of coordinates) and the inhomogenous Galilean
group (space and time translations).

Consider two points in space + time - (t1, x1), (t2, x2) (say, what time your alarm clock went off and
what time you got out of bed). What combination of these coordinates are invariants?:

• ∆t = t2 − t1 is invariant under all of the above transformations.

• ∆x = |x2 − x2| - is not invariant under boosts, as under x′ = x − vt we have:

|x′2 − x′1| = |(x2 − vt2)− (x1 − vt1)| = |x2 − x1 − v(t2 − t1)| ̸= |x2 − x1| (1.7)

However, if t1 = t2 then it is indeed an invariant.

1.3 Generalization to Fields

We now think about how to generalize these symmetries to fields. Consider the wave equation, which you
saw in PHYS 322:

□ϕ(x, t) := (− 1
c2 ∂2

t +∇2)ϕ(x, t) = 0 (1.8)

Actually, we don’t need to go to Maxwell/electromagnetic theory to see this; the wave equation already
appears in classical mechanics, e.g. to describe waves on guitar strings, water etc.

The solutions to the wave equation are:

ϕ(x, t) = Ceik·x−ωt, ω = c|k| (1.9)

where c is the speed of propagation in the medium and C some arbitrary multiplicative constant. Let’s
consider again the symmetries of our discrete classical theory and see what the effects of the transforma-
tions are.

• Translations: if we take x → x + a, t → t + t0, then we have:

ϕ(x, t) → ϕ(x + a, t + t0) = Ceik·(x+a)−iω(t+t0) = Ceik·a−iωt0 eik·x−iωt (1.10)

The translation simply yields a multiplicative constant/phase which is yet another solution to the
wave equation.
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• With boosts the story is different. Taking x → x − vt, we have:

ϕ(x, t) → ϕ(x − vt, t) = eik·x−i(ω+k·v)t (1.11)

so we have a new ω′:
ω′ = ω + k · v (1.12)

but we require that ω′ = c|k|, and indeed this does not hold generally:

ω + k · v ̸= c|k| (1.13)

unless the k · v term vanishes, i.e. the boost is in a perpendicular direction to the direction of
propagation of the wave. In other words, while monochromatic waves do map to monochromatic
waves, they do not preserve the dispersion relation.

At its face this seems to be a paradox. How is this consistent with the fact that boosts are a symmetry
of our classical theory? There was indeed something we hid here - for the wave equation to be valid, the
medium needs to be at rest - Eq. (1.8) assumes that the medium is at rest, for example (though we could
generalize to the case of a moving medium)

Let us restrict ourselves to 1-d for moment and think about this further. Then, the solutions to the
wave equation become:

ϕ(x, t) = eikx−iωt (1.14)

with boosted solutions:
ϕ′(x, t) = ϕ(x + vt, t) = eikx−i(ω+kv)t (1.15)

so in the boosted frame, it looks like the waves are travelling at speed:

V =
ω + kv

k
=

ω

k
+ v = c + v (1.16)

so we can see the law of composition of velocities emerge.

1.4 Symmetry actions in Maxwell theory

When Maxwell theory was proposed, people that believed that the same discussion holds for electromag-
netic waves. As a result they believed two things:

1. There was an “Ether”, a frame where the light waves were at rest, analogous to the frame in the
previous example where the water waves were at rest.

2. The speed of light depends on the frame of reference.

Michelson wasted 2 decades of his life trying to measure this effect (at least he got a UChicago building
named after him!) and after this sequence of failures, people realized that our understanding needed to
be amended. Indeed, the discussion of classical waves we just went through is not a feature of electro-
magnetism. The actual situation is that Maxwell’s equations hold in all inertial frames, and the symmetry
group of nature is still generated by translations, rotations, and boosts, but the action of boosts is different
from the classical case.

As a first step towards generalizing the action, let us remind ourselves how rotations act on monochro-
matic plane waves. As previously mentioned, we obtain the rotated coordinates via acting on our coordi-
nates with a 3x3 rotation matrix:

x′ = Rx (1.17)

Looking at k · x:

k · x =
(

kx ky kz

)x
y
z

 (1.18)
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If we replace x with x′ = Rtx we have:

(
kx ky kz

)
Rt

x′

y′

z′

 (1.19)

We then have the rotated wavenumber:

(
k′x k′y k′z

)
=
(

kx ky kz

)
Rt =⇒

k′x
k′y
k′z

 = Rt

kx
ky
kz

 (1.20)

So - If ϕ(x, t) is a solution to the wave equation, then ϕ′(x, t) (i.e. the solution where each k is mapped
to k′ = Rtk) is also a (different) solution of that equation, which satisfies ϕ′(x′, t) = ϕ(x, t). This is an
exercise which you can go through at home by taking a general solution and fourier decomposing it and
applying the above wavenumber argument to each fourier component.

Now, let’s return back to boosts - if we want the wave equation to be invariant under boosts (which it
was not using the original definition of boosts), the best way to proceed is the following. We go from a
3-d story to a 3+1-d story:

xµ = (x0, x1, x2, x3) = (ct, x, y, z) (1.21)

Now, we want to generalize the rotations in 3-d space to the full 3+1-d spacetime.
In space, we have the line element:

ds2 = dxidxi = dx2 + dy2 + dz2 (1.22)

where the length of a trajectory is given by (in the 2-d case where y = y(x) so dy = y′dx):

L =
∫

ds =
∫

dx
√

1 + y′2 (1.23)

ds is rotationally invariant:
ds2 = dxidxi = dx′idx′i (1.24)

i.e. if you rotate your frame the distance between two points does not change. This is the thing that we
generalize to 3+1d. We define the line element:

ds2 = dxµdxνηµν = −(dx0)2 + (dx1)2 + (dx2)2 + (dx3)2 (1.25)

with ηµν the Minkowski metric:
η = diag(−1, 1, 1, 1). (1.26)

How does this help? Let’s look at the wave equation. ϕ originally was a function of x, t, which we’ve
repackaged into xµ:

□ϕ(xµ) = 0, □ =
1
c2

∂2

∂t2 +
∂

∂xi
∂

∂xi = −∂2
0 + ∂i∂i =

∂

∂xµ

∂

∂xµ ηµν (1.27)

An important note; previously, indices on coordinates were just an aesthetic choice. But here now one of
the signs of the metric is different, so we need to take a little more care with where we put our indices. In
particular, given xµ we can define:

xµ = ηµνxν (1.28)

so:
x0 = −x0, xi = xi (1.29)
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Note that this implies that ∂
∂xµ actually carries a lower index. xµxµ is Lorentz invariant (note the Einstein

summation convention/repeated indices are summed over), and taking its derivative:

∂

∂xµ (xνxν) = 2xµ (1.30)

so since taking the derivative results in an object with a lower index, ∂
∂xµ indeed carries a lower index.

This motivates the ∂
∂xµ

∂
∂xµ ηµν we wrote in the D’Alambertian.

Note that fortunately, the metric with upper indices is identical to the metric with lower indices:

η00 = −1, η 0
0 = +1 =⇒ η00 = −1 (1.31)

This discussion was a bit fast, but we will continue it next class. It’s recommended that you read the
relevant sections in Wald to refresh yourself on all of this index manipulation.

2 Lorentz Transformations

2.1 Review of last class

Last time, we were discussing the question of how pre-relativistic spacetime symmetries can be promoted
to be consistent with the Maxwell theory. We generalized from rotations; we have three space coordinates
(x1, x2, x3) = (x, y, z) and the line element:

ds2 = dx2 + dy2 + dz2 = dxidxi (2.1)

where the summation over the repeated index i is implied. Rotations have the action on the coordinates:

x′i = Ri
jx

j (2.2)

with RtR = RRt = I. The line element ds2 is invariant under rotations:

ds′2 = dx′idx′i = dxidxi = ds2 (2.3)

The idea is that given two points x1, x2, the squared distance:

D2 = |x2 − x1|2 (2.4)

is invariant under rotations. For our purpose, it is also useful to recall that ∇2 = ∂i∂i is also invariant:

∇′2 =
∂

∂x′i
∂

∂x′i
= ∇2 (2.5)

The idea was to now include time:

ds2 = −(dx0)2 + (dx1)2 + (dx2)2 + (dx3)2 = dxµdxνηµν (2.6)

with x0 = ct, and µ, ν = 0, 1, 2, 3 and:
ηµν = diag(−1, 1, 1, 1). (2.7)

Note that we can write the line element equivalently as:

ds2 = dxµdxµ (2.8)

where:
dxµ = ηµνdxν (2.9)

generally, we are able to lower any index using the spacetime metric (here a metric on R1,3). With this
definition, note:

dx0 = −dx0, dxi = dxi (2.10)

Note that greek indices run over all 4 spacetime components, while alphabetic indices (i, j, k) only run
over spatial.
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2.2 Spacetime Intervals and Poincare Symmetry

For two points in spacetime xµ, yµ, we can define the spacetime interval:

I = −(xµ − yµ)(xν − yν)ηµν = −(x0 − y0)2 + |x − y|2 (2.11)

There are three cases:

• For I > 0, x, y are spacelike separated.

• For I < 0, x, y are timelike separated.

• For I = 0, x, y are lightlike separated.

I behaves like an inner product of sorts on spacetime, but it is not positive definite.
Note that ds2 is invariant under transformations of the form:

x′µ = Λµ
νxν (2.12)

It is very important to get the location of indices correct!1

Λ satisfies:
Λµ

λΛν
ρηµν = ηλρ (2.13)

2.3 Solutions to the Wave Equation

Recall the box operator, which we can now write compactly:

□ = − 1
c2 ∂2

t +∇2 = ∂µ∂µ = ∂µ∂νηµν (2.14)

Like the Laplacian was invariant under rotations, the box operator is invariant under Lorentz transformations/Λs:

□x = □x′ (2.15)

What do we learn from this? If ϕ(xµ) is a solution of the wave equation:

□xϕ(x) = 0 (2.16)

then ϕ′(x) is also a solution of the wave equation. ϕ′ is defined by:

ϕ′(x′) = ϕ(x) (2.17)

An important example is plane waves:

ϕ(xµ) = eikµx6µ = eikµxνηµν (2.18)

Note that if ϕ is a solution:
(xµ) = ikµikµeikµxµ = 0 (2.19)

thus:
kµkµ = 0 =⇒ (k0)2 = |k|2 =⇒ k0 = |k| (2.20)

where we take the positive root. In the discussion we had on Tuesday, we quoted the familiar result from
last quarter:

ϕ(x, t) = e−iωt+ik·x (2.21)

1If you wrote the LHS as x′µ on the midterm, the grader is going to be in pain.
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with ω = c|k|. This condition is exactly the same as that we write above:

ϕ(x, t) = e−iωt+ik·x = e−i ω
c x0+ik·x = e−ik0x0+ik·x (2.22)

So if we substitute k0 into the dispersion relation:

k0 = |k|. (2.23)

For this ϕ(x), ϕ′(x) looks like:
eik′µxµ

(2.24)

where:
k′µ = Λ ν

µ kν (2.25)

Note that in order for this be a solution, we must have that the ks are lightlike, as they are for the original
solution:

k′µk′µ = 0 (2.26)

But this is guaranteed by the fact that the Lorentz transformations preserve the metric (check it if you
aren’t convinced).

Last class we had the problem that applying a boost to a solution of the wave equation was not a
solution - we have now fixed this.

2.4 Lorentz Transformations - Rotations and Boosts

There is a special class of Lorentz transformations where Λ 0
0 = 1 and Λ i

0 = 0, which look like:

Λ =


1 0 0 0
0
0 R
0

 (2.27)

Note that for these:
x′0 = Λ0

νxν = x0 (2.28)

x′i = Λi
νxν = Ri

jx
j (2.29)

for RtR = RRt = I, so rotations are just a subclass of Lorentz transformations. Given that rotations of
solutions to the wave equation are also solution, this is not too surprising.

A couple examples; for a rotation about the z-axis by the angle θ:
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we have:

R =

cos θ − sin θ 0
sin θ cos θ 0

0 0 1

 (2.30)

For a boost in the x′ direction with velocity v, we have:

Λ ν
µ =


γ −βγ 0 0

−βγ γ 0 0
0 0 1 0
0 0 0 1

 (2.31)

where the parameters obey (in order for Λ to preserve the metric):

γ2(1 − β2) = 1 (2.32)

β = v
c ∈ (−1, 1) as nothing travels faster than the speed of light. Rearranging for γ, we have the familiar

expression:

γ =
1√

1 − β2
(2.33)

We can write:
β = tanh ζ (2.34)

where ζ ∈ (−∞, ∞) is the rapidity. In this parameterization:

γ =
1√

1 − β2
=

1√
1 − tanh2 ζ

= cosh ζ (2.35)

where we have used cosh2 ζ = sinh2 ζ + 1. Note then that βγ = sinh ζ. So we can write the boost
transformation as:

Λ =


cosh ζ − sinh ζ 0 0
− sinh ζ cosh ζ 0 0

0 0 1 0
0 0 0 1

 (2.36)

Which looks quite analogous to what we had with the spatial rotations, except we have replaced the
trigonometric functions with their hyperbolic counterparts. Indeed, we can view boosts as hyperbolic
rotations.

Under a boost, we have: (
x′0

x′1

)
=

(
γ −βγ

−βγ γ

)(
x0

x1

)
=

(
γx0 − βγx1

γx1 − βγx0

)
(2.37)

In the nonrelativistic limit of v/c ≪ 1:

γ = (1 − β2)−
1
2 ≈ 1 +

1
2

β2 (2.38)

so:
x′0 ≈ x0, x′1 = x′ − v

c
· ct (2.39)

so we recover the expressions for old (Galilean) boosts. So classical physics was not wrong per se, it just
emerges as the nonrelativistic limit of the correction theory. But when we look at relativistic physics (e.g.
electromagnetic waves, high-energy particle scattering...) we need to use the relativistic theory.

On Tuesday, we discussed the 10 dimensional Galilean group which quantified the symmetry of clas-
sical mechanics. Now, we have modified boosts (i.e. the homogenous part of the Galilean group). The
group consisting of 3 spatial rotations + 3 relativistic boosts yields the 6-dimensional Lorentz group, and
the 4 spacetime translations yields the 10-dimensional Poincare group.
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2.5 Doppler Effect

Recall the monochromatic wave solution:
ϕ = eikµxµ

(2.40)

with:
k2 = kµkµ = 0 (2.41)

ω = ck0 = ck, k = k̂k = k̂
2π

λ
(2.42)

The two heroes of the story are the frequency and k̂ the direction of propagation.

The question is now - what does a boosted observer see? We consider the wavevector k and decompose
it into the components perpendicular and parallel to the boost velocity. θ is the angle between the two
vectors. Let us calculate:

k′µ = Λµ
νkν (2.43)

We have:
k′0 = γ(k0 − β · k) = γ(k0 − βk∥) (2.44)

k′∥ = γ(k∥ − βk0) (2.45)

k′
⊥ = k⊥ (2.46)

the last equality follows from the fact that the Λ matrix is trivial in this sector.
A good consistency check is that:

k′2 = k′µk′µ = 0 (2.47)

which you can verify. This tells us that the boosted observer still sees the EM wave propagating at speed:

k′0 = |k′| (2.48)

This is not something to be surprised about - the formalism was built for this to be true.
If the speed of propagation is not different, what is different? Well, let’s look at the k′0 relation. We

can write this as:
ω′ = γω(1 − β cos θ) (2.49)

So, we see a different frequency, which is the Doppler effect! The direction of propagation is also modified:

tan θ =
|k⊥|
k∥

, tan θ′ =
|k′

⊥|
k′∥

=
|k⊥|

γ(k∥ − βk0)
(2.50)

Since the denominator changes, so too must the angle.
Note the special case of the frequency relation when θ = π/2, then:

ω′ = γω (2.51)

so the shift is manifestly relativistic.
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2.6 Teaser - Relativistic Formulation of Maxwell Theory

You might say - hey, weren’t we studying Maxwell theory the whole time? Indeed we were studying the
wave equation, but there is more to Maxwell theory than this! We have to talk about two things:

• The dynamics of (charged) particles in electromagnetic fields

• The dynamics of the electromagnetic field itself

Consider the Lorentz force; suppose we have particle with spatial coordinate x(t) and charge q. In the
presence of EM fields, the equation of motion is given by:

d(mẋ)
dt

=
dp
dt

= q(E + v × B) (2.52)

These equations are written in a highly inconvenient way for our purposes, as they treat time and space
very differently. Time is a label and x is the position of interest. But for us, we want to package things in
terms of 4-vectors/spacetime coordinates xµ = (x0 = ct, x). Thus the above formulation is very inconve-
nient, e.g., to see how Lorentz transformations work in this theory. We will see how we can formulate the
Maxwell theory in a relativistically covariant fashion next time.

3 Relativistic Formulation of a Free Particle

At the end of last week, we discovered that the wave equation (in Maxwell theory) must hold in all
inertial frames, and as such the notion of boosts in Maxwell theory is different from the Galilean version
in classical mechanics. Today what we will do is follow Einstein, and take the attitude that all physical
laws must be Lorentz invariance.

To this end, we will need to be generalize the idea of the coordinate x(t). In classical mechanics,
the momentum p = mẋ is conserved, and can take on any value. But in the relativistic theory |ẋ| is
bounded above by the speed of light. Some kind of reformulation is necessary. We also have the EM fields
E(x, t), B(x, t) - these are already coming out of a Lorentz invariant theory, but we can rewrite the Maxwell
equations such that they are manifestly Lorentz covariant.

In classical mechanics, we write down the Lagrangian:

L =
1
2

mẋ2 − U(x) (3.1)

and then solve the EL equations to find the trajectories.
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3.1 Parametrization

However, for a relativistically covariant formulation, we would like to put x, t on the same footing. To this
end, we can introduce a parameter λ, and describe the worldline of the particle as:

xµ = xµ(λ) (3.2)

with µ = 0, 1, 2, 3. This might look outlandish, but we do such parametrizations in simpler contexts. For
example, consider a line in 2D space:

Then we could either write y = y(x), or we could write y = y(λ), x = x(λ) and make them depend on
a common parameter:

x = λ, y = λ2, λ ∈ [0, 1] (3.3)

In doing so, we actually introduced an additional symmetry in the form of reparametrization invariance;
indeed we can have x, y in terms of an arbitrary (monotonic, positive) function of λ:

x = f (λ), y = f 2(λ), λ ∈ [0, 1] (3.4)

This can be useful for calculations in various contexts. For example, suppose we were interested in
calculating the length of the line:

Then:

L =
∫ B

A
ds =

∫ B

A

√
dx2 + dy2 =

∫ 1

0
dx

√
1 −

(
dy
dx

)2
=
∫ 1

0
dx
√

1 + y′2 (3.5)

But if x = x(λ), y = y(λ) for some parameter λ, we could then write:

ds2 = (dx(λ))2 + (dy(λ))2 =

(
dx
dλ

dλ

)2
+

(
dy
dλ

dλ

)2
= dλ2

(
ẋ2 + ẏ2

)
(3.6)
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So:

L =
∫ B

A
ds =

∫ B

A

√
dλ2

(
ẋ2 + ẏ2

)
=
∫ B

A
dλ
√

ẋ2 + ẏ2 (3.7)

the length calculation is now symmetric in x, y. If we replace λ → f (λ), the length should not change (for
it shouldn’t matter on the parameterization of the curve!) This must be a symmetry of the integral, and
indeed we can easily check that it is. Under λ → f (λ):

xµ =
dxµ

dλ
→ dxµ

d f (λ)
=

dxµ

dλ

dλ

d f (λ)
(3.8)

and the same for yµ. Thus the length becomes:

L =
∫ B

A
d f (λ)

√√√√( dxµ

d f (λ)

)2

+

(
dyµ

d f (λ)

)2

=
∫ B

A
dλ ḟ

√√√√( ẋ
ḟ

)2

+

(
ẏ
ḟ

)2

=
∫ B

A
dλ
√

ẋ2 + ẏ2 (3.9)

which we can see is invariant (as it should be).

3.2 Parametrizing Worldlines and Time Dilation

Back to our problem of parametrizing worldlines. We can repeat the idea from the simple context here,
by describing the particle worldine as xµ(λ). Other than the fact that the time component has a different
sign:

ds2 = −(dx0)2 + (dx1)2 + (dx2)2 + (dx3)2 (3.10)

we can play the same game as before; with xµ = xµ(λ):

ds2 = dλ2
(
−(ẋ0)2 + (ẋ1)2 + (ẋ2)2 + (ẋ3)2

)
= dλ2 ẋµ ẋµ = dλ2 ẋµ ẋνηµν (3.11)

This line element is reparametrization invariant, but also is Lorentz invariant (as it is written as a contrac-
tion with the Minkowski metric).

To do physics, we want to fix reparametrization symmetry. It is natural to fix x0(λ) = λc, so then
t(λ) = λ. The logic is we have four functions, and we can freely reparametrize - using this symmetry, we
may pick the time function to be simple. Let’s see what happens to ds2 when we do this:

ds2 = dt2

(
−c2 +

(
dx
dt

)2
)

= −c2dt2
(

1 − β2
)

(3.12)

with β = v
c = ẋ

c . A natural definition is:

dτ2 = dt2(1 − β2) (3.13)

so:
ds2 = −c2dτ2 (3.14)

τ is called the proper time. In the frame where β = 0, we can see from the above τ = t; it thus has the
interpretation as the time in the inertial frame in which the particle is at rest momentarily. The relation
between t, τ can be written as:

dt = γdτ (3.15)

with:
γ2 =

1
1 − β2 (3.16)
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This is the celebrated time dilation formula. This says that things that take time dτ in the frame of the
particle are dilated/increased by 1

1−β2 in the frame of the external observer. As a concrete example, if a

particle has a lifetime T, someone who sees the particle moving will see its lifetime as γT. You may be
familiar with the fact that cosmic rays create muons with, T = 2.2 · 10−6s. In the muon frame, it can only
travel 2.2 · 10−6s · 3 × 108ms−1 = 0.66km. But we observe that cosmic ray muons propagate for hundreds
of kilometers, and the explanation is that their lifetime is extended via time dilation.

3.3 Lagrangian for Relativistic Particle

The usual Lagrangian:

L =
1
2

mẋ2 − U(x) (3.17)

does not work in our relativistic formulation as the particle could have any velocity, and velocities are
bounded by the speed of light. Further, the action S =

∫
dtL is not invariant under Lorentz transforma-

tions. Can we modify this Lagrangian in some way? A very natural candidate is:

S = A
∫

dλ
√
−ẋµ ẋµ. (3.18)

This is automatically Lorentz invariant. It is also reparametrization invariant, so let us fix the reparametriza-
tion symmetry by taking λ = t:

S = Ã
∫

dt

√
1 − ẋ2

c2 . (3.19)

This is now invariant under the boosts that we defined last week - even though it looks like it mixes x/t
because they are written separately, we know from the form of Eq. (3.18) that it is indeed invariant. It is
also now clear why we took the minus sign there; we want the argument of the square root to be always
positive.

We are not quite done yet. We have to check that the action passes basic scrutiny. One sanity check is
that in the non-relativistic limit of ẋ ≪ c. Using the binomial approximation:

S = Ã
∫

dt

[
1 − 1

2
ẋ2

c2 + O(
|ẋ|4
c4 )

]
(3.20)

This motivates the choice that Ã = −mc2:

S =
∫

dt
(
−mc2 +

1
2

mẋ2 + . . .
)

(3.21)

This looks very good! We have the kinetic term with the correct normalization, and the first term can be
thought of the rest energy of the particle U = mc2. Note that the zero of the energy has been fixed - in
regular classical mechanics, we usually have a freedom to choose what our “zero” is, but it does matter
here.

The bottom line is our action:

S = −mc2
∫

dt

√
1 − ẋ2

c2 (3.22)

has the properties that it is Lorentz invariant and it produces the correct formula in the low-velocity limit.
This is the action we will be working with!
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3.4 Relavistic energy and momentum

We want to turn the crank of the classical mechanics machinery and write down the Euler-Lagrange
equations, and define energy and momentum. The E-L equations are:

d
dt

∂L
∂ẋi =

∂L
∂xi (3.23)

for i = 0. Since the Lagrangian is independent of xi:

d
dt

∂L
∂ẋi = 0 (3.24)

Thus we can define the (conserved) momentum:

pi =
mẋi√
1 − v2

c2

= γmẋi (3.25)

So the difference between the non-relativistic case (mẋi) and relativistic case (γmẋi) is that γm is an effective
“relativistic mass”; the faster the particle travels, the heavier it becomes/harder it becomes to change its
momentum (and hence it can never surpass the speed of light).

We can also write down the Hamiltonian (equal to the energy because L does not depend on time):

H = E = pi ẋi −L = γmc2 (3.26)

where again the energy becomes larger and larger the more the particle approaches the speed of light.
You can easily convince yourself that:

E2 = c2|p|2 + (mc2)2 (3.27)

This is an interesting formula for the following reason. (E, p) are a scalar and vector under rotations.
Because rotations are a subgroup of Lorentz transformations, they presumably can be combined to a four-
vector pµ = ( E

c , p). pµ → p′µ = Λµ
ν pν under Lorentz transformations. In this language, Eq. (3.27) has the

nice inrepretation:
pµ pµ = −(mc)2 (3.28)

So the combination pµ pµ is a Lorentz invariant quantity.
Next time, we will look at the relativistic formulation of Maxwell’s theory; we have fields E(x, t), B(x, t),

which satisfy:

∇ · E =
ρ

ϵ0
(3.29)

∇ · B = 0 (3.30)

∇× B − 1
c

E = µ0J (3.31)

∇× E + Ḃ = 0 (3.32)

we will repackage these in such a way that it is clearer to see that they are Lorentz invariant. We will then
combine our work on a relativistically invariant formulation of the mechanics of a particle with this.
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4 Relativistic Formulation of Maxwell Theory

A small comment from last class - we discussed the fact that we could package the energy and momentum
into a four vector:

(E, p) = pµ (4.1)

and that:
pµ pµ = pµ pνηµν = −(mc)2 (4.2)

is a Caismir of the Poincare group/is a Poincare invariant. That is to say - the above is an invariant
under boosts/rotations/translations, and has the interpretation that it is the mass of the particle, which is
unchanged under all such transformations.

Today, we move onto the relativistic formulation of the Maxwell theory - in your EM courses you have
surely seen the 4 Maxwell equations:

∇ · E =
ρ

ϵ0
(4.3)

∇ · B = 0 (4.4)

∇× B − 1
c

E = µ0J (4.5)

∇× E + Ḃ = 0 (4.6)

We suspect ahead of time that these are Lorentz invariant (as the wave equation is a consequence of these
equations, and it is Lorentz invariant) but there is a way we can write them down such that they are
manifestly so.

4.1 Maxwell under Rotations

Let’s start with rotations, which are a subset of Lorentz transformations. It is not hard to show that the
Maxwell equations as written above are already invariant under rotations - let’s work this out. The charge
density is a scalar, and so:

ρ′(x′) = ρ(x) (4.7)

Where x′ = Rx, or in index notation, xi = Rijxj. What of the vector quantities? E, B, J are vector fields,
which have a direction at each point in space:

and you can convince yourself that vector fields have the following transformation:

E′
i(x

′)dx′i = Ei(x)dxi (4.8)
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4.2 Gauge Fields

What we would like to do is generalize this to all Lorentz transformations, where four-vectors xµ = (t, x)
transform as:

x′µ = Λµ
νxν. (4.9)

The issue now becomes that it is unclear how E, B (which are not 4-vectors) transform. The main hint is
that we may write the electric and magnetic fields in terms of a scalar and vector potential:

E = −∇ϕ − Ȧ (4.10)

B = ∇× A (4.11)

there is a sense in which ϕ, A are more fundamental than E, B, which we will see later in the lecture.Now,
we are back to a problem that we have previously encountered. We have a scalar ϕ and a vector A, so it
makes sense to package them into a single four-vector, known as the gauge field:

Aµ = (
ϕ

c
, A) (4.12)

The question then becomes whether or not this is a useful definition, and the answer is yes!
Under Lorentz transformations, we expect:

Aµ(x′)dx′µ = Aν(x)dxν (4.13)

before we move on, it’s worth picking apart exactly what this means; if we divide both sides by dxν:

A′
µ(x′)

dx′µ

dxν
= Aν(x) (4.14)

Now, the derivative we can read off from Eq. (4.9):

dx′µ

dxν
= Λµ

ν (4.15)

so then:
A′

µ(x′)Λµ
ν = Aν(x) (4.16)

4.3 Field Strength

Now, we have to check what the implication this is for on the E, B - the answer is that we can define the
field strength of the gauge field:

Fµν = ∂µ Aν − ∂ν Aµ (4.17)

where ∂µ = ∂
∂xµ . I have a suspicion that Fµν has something to do with E, B. The first reason is that Fµν is a

4 × 4 antisymmetric matrix:
Fµν = −Fνµ (4.18)

which contains 6 independent components, which matches the total number of independent components
stored in the E, B. The other reason is that Fµν is gauge invariant. Last quarter, you noticed that, for an
arbitrary scalar function χ, we could transform the scalar/vector potential as:

ϕ′ = ϕ − ∂tχ, A′ = A +∇χ (4.19)

and under such a transformation E, B are invariant. Such transformations are known as gauge transfor-
mations, and are labelled by an arbitrary scalar function of spacetime. In order to discuss what happens
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to Fµν under such transformations, we first act how the gauge field Aµ(x) transforms under such a trans-
formation:

A′
µ(x) = Aµ(x) + ∂µχ (4.20)

Let’s check this for the 0-th/time component:

A′
0 = A0 +

∂

∂x0 χ =⇒ −ϕ′

c
= −ϕ

c
+

∂

∂(ct)
χ =⇒ ϕ′ = ϕ − ∂tχ (4.21)

and the story for the spatial components is analogous. With this, let’s check how the field strength
transforms:

F′
µν = ∂µ A′

ν − ∂ν A′
µ = ∂µ(Aν + ∂νχ)− ∂ν(Aµ + ∂µχ) = Fµν + ∂µ∂νχ − ∂ν∂µχ = Fµν (4.22)

it is invariant! So now we’re pretty confident that the components of F will give the components of the
E/B fields. Let’s work them out:

Fi0 = −F0i = ∂i A0 − ∂0 Ai = −1
c

∂iϕ − ∂0 Ai =
1
c

Ei (4.23)

F12 = −F21 = ∂1 A2 − ∂2 A1 = ϵ3jk∂j Ak = B3 (4.24)

(where in the last equality we recall that Bi = ϵijk∂j Ak). Thus for the general component of the B-field:

Bi =
1
2

ϵijkFjk (4.25)

the 1
2 coming from the fact that when we do the j, k summations we get two nonzero terms. The bottom

line of this discussion:

Fµν =


0 − 1

c E1 − 1
c E2 − 1

c E3
1
c E1 0 B3 −B2
1
c E2 −B3 0 B1
1
c E3 B2 −B1 0

 (4.26)

why did we do all of this? When we first wrote down the Maxwell equations, we had confusion about
how E, B transform under Lorentz transformations. Now we have answered it - we can combine E, B into
Fµν and it is easy to see how this transforms, because we know how Aµ transforms under Lorentz:

F′µν(x′) = Λµ
λΛν

ρFλρ(x) (4.27)

This looks very abstract, but it answers very physical questions. Suppose we have a charged particle,
eminating an E-field. I could then get on a bike2 and ask what E, B-fields I observe - this allows us to
answer it.

So far, we have just written down a bunch of definitions we hope would be useful. We had Maxwell’s
equations, and we wanted to make sure they were invariant under Lorentz transformations. Now, we are
in a position to go back to this question, and ask if we can write Maxwell’s equations in a way where the
Lorentz invariance is manifest.

4.4 Lorentz Covariant Maxwell Equations

We require one more definition, that of the dual field strength. We have the field strength:

Fµν = ∂µ Aν − ∂ν Aµ (4.28)

2Assuming I was very good at riding a bike and I could go close to the speed of light...

20



and then its dual is defined by:

F∗αβ = F̃αβ :=
1
2

ϵαβγδFγδ (4.29)

where:
ϵ0123 = 1 (4.30)

and every time two indices are flipped we get a −1 sign. The 1
2 in the definition is there to account for the

fact that we get two factors in the summation over γ, δ.
We can explicitly work out the components:

F̃µν =


0 B1 B2 B3

−B1 0 1
c E3 − 1

c E2
−B2 − 1

c E3 0 1
c E1

−B3
1
c E2 − 1

c E1 0

 (4.31)

from which we can see that F, F̃ are related via E → cB, cB → −E. This is the beginning of a rabbit hole
known as electromagnetic duality, and it has lead theorists to believe that there exist magnetic monopoles.

We claim that the dual tensor satisfies:
∂µ F̃µν = 0 (4.32)

Let’s prove this; fully writing out the dual tensor:

F̃µν = ϵµνγδ(∂γ Aδ − ∂δ Aγ) (4.33)

Now taking the derivative;
∂µ F̃µν = ϵµνγδ(∂µ∂γ Aδ − ∂µ∂δ Aγ) (4.34)

Note that the derivative terms are symmetric under µ ↔ γ and µ ↔ δ, but ϵµνγδ is antisymmetric under
such interchanges; hence the derivative vanishes:

∂µ F̃µν = 0 (4.35)

and we call this the Bianchi identity. Actually, it is four equations, one for each ν = 0, 1, 2, 3. We can write
this identity in terms of electric and magnetic fields:

∇ · B = 0 (4.36)

∇× E + Ḃ = 0 (4.37)

which we can see are just two of the Maxwell equations - the equations are really Lorentz covariant,
because we can write them in terms of F̃µν, so if they are satisfied in one frame we can easily deduce that
they are in a boosted frame.

We then have the other two equations which don’t straightforwardsly follow from the Bianchi identity:

∇ · E =
ρ

ϵ0
(4.38)

∇× B − 1
c

Ė = µ0J (4.39)

The charge and current densities satisfy the continuity equation:

ρ̇ +∇ · J = 0 (4.40)

at this point, we’re Pavlovian dogs who start drooling whenever we see a scalar and a vector together, so
we’re motivated to define:

Jµ = (cρ, J) (4.41)
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wherein the continuity equation just reads:
∂µ Jµ = 0 (4.42)

Under Lorentz transformations:
J′µ(x′)dx′µ = Jν(x)dxν (4.43)

So let’s get back to the remaining two Maxwell equations; you can convince yourself that:

∂µFµν = −µ0 Jν (4.44)

which is the relativistically covariant form of the Maxwell equations relating the fields to charges/currents.
One thing to point out - when we write this, one thing that is obvious is that if we can write this at all,

the current must be conserved. The reason is that if that if I take the derivative ∂ν:

∂ν∂µFµν = −µ0∂ν Jν (4.45)

on the LHS we have a trivial zero (symmetric derivative of an antisymmetric tensor) so:

∂ν Jν = 0 (4.46)

the current must be conserved. Said another way, the electromagnetic field can only couple consistently
to conserved currents.

A comment - on Tuesday, we discussed the dynamics of free particles. We might ask whether we’ve
solved the problem of charged particles here - the answer is not quite, since throughout we’ve as-
sumed ρ, J are smooth and a charged pointlike particle would give rise to a delta-function concentrated
charge/current. But we’ll see how to deal with this later.

4.5 Lagrangian Formulation

We have found the Maxwell equations:
∂µ F̃µν = 0 (4.47)

∂µFµν = −µ0 Jν (4.48)

and we want to know whether we can get these equations from Euler-Lagrange equations that follow from
some Lagrangian.

First, we review the situation in point-particle mechanics. Then, we generalize to field theory. Finally,
we will specialize to E& M.

In classical mechanics, we have generalized coordinates qi(t) for i = 1, . . . n. The action is then:

S =
∫

dtL(qi, q̇i) (4.49)

for L = T − U. The Euler-Lagrange equations are then:

d
dt

∂L
∂q̇i

=
∂L
∂qi

(4.50)

and you have solved this, e.g., when T = 1
2 ∑i mi q̇2

i and U = U(q1, . . . qn).
We now want to promote these coordinates to fields, qi(t) → ϕi(t, x), and we shall continue with this

next lecture.
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5 Lagrangian for EM field

In relativistic notation, Maxwell’s equations are:

∂µ F̃µν = 0 (5.1)

∂µFµν = −µ0 Jν (5.2)

where:
Fµν = ∂µ Aν − ∂ν Aµ (5.3)

F̃µν =
1
2

ϵµνρσFρσ (5.4)

we then raised the question: could we derive these equations from a Lagrangian?

5.1 From particles to fields

Brief review of classical mechanics of particles - we consider an action:

S =
∫

dtL(qi(t), q̇i(t)) (5.5)

Which, extremizing, we obtain the Euler-Lagrange equations:

d
dt

∂L
∂q̇i

=
∂L
∂qi

(5.6)

which are equivalent to Newton’s second law.
We now generalize, in two steps. First, we generalize the generalized coordinates qi(t) to a field ϕ:

qi(t) → ϕ(x) = ϕ(x, t) (5.7)

Comparing to what we had in the case of particle mechanics, instead of the i index we have the position
x - we have a continuous number of degrees of freedom. Field theory is nothing more than classical
mechanics of an infinite degrees of freedom.

We can further generalize:
ϕ(x) → ϕi(x) (5.8)

where i = 1, . . . n. This is not to be confused with the index i for the particle label. This is just saying we
have i = 1, . . . n different fields.

In our application, we take ϕi → Aµ. The spacetime index µ plays the role of i. Aµ is a vector field,
and in full gory detail:

Aµ = Aµ(x0, x1, x2, x3) (5.9)

with µ = 0, 1, 2, 3. Lorentz transformations act on both indices.
Comment: this is similar to the role of spin in quantum mechanics; we had wavefunctions ϕ(x, t) which

we obtained by solving the Schrodinger equation. When we solved for the energy levels of the hydrogen
atom, we likely ignored the fact that the electron had spin. But in the presence of the magnetic field, there
is a term in the Hamiltonian that acts on the spin, so we add an extra index α to ψα(x, t) where α =↑, ↓. µ
plays an analogous role - we have spin-1.

Going back to the action, we can write (restricting to just one field for now):

S =
∫

d4xL(ϕ(x), ∂µϕ(x)). (5.10)
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We want to understand what is the analog of the Euler-Lagrange equations? We will follow the same logic
in the particle case - we vary the field ϕ:

ϕ(x) → ϕ(x) + δϕ (5.11)

where the variation δϕ is arbitrary and small3. We then ask by how much does S(ϕ) change under the
variation, to first order in δϕ:

δS = S(ϕ + δϕ)− S(ϕ)

=
∫

d4x
[
L(ϕ + δϕ, ∂µϕ + ∂µδϕ)−L(ϕ, ∂µϕ)

]
=
∫

d4x

[
δϕ

∂L
∂ϕ

+ ∂µδϕ
∂L

∂(∂µϕ)

]

=
∫

d4x

δϕ
∂L
∂ϕ

+ ∂µ

(
δϕ

∂L
∂(∂µϕ)

)
− δϕ∂µ

∂L
∂(∂µϕ)


(5.12)

Now, the middle term is an integral of a total derivative. We can thus write it as (for µ = 0):

∫
d4x∂0

( ∂L
∂(∂0ϕ)

)
δϕ

 =
∫

d3x
∂L

∂(∂0ϕ)
δϕ

∣∣∣∣∣
x0=∞

x0=−∞

(5.13)

and we can choose the variation δϕ to go to zero at the boundary of time. This is analogously true for the
spatial µs. Thus the total derivative term drops out, and the variation in the action becomes:

δS =
∫

d4xδϕ(x)

[
∂L
∂ϕ

− ∂µ
∂L

∂(∂µϕ)

]
= 0 (5.14)

and if we want this to hold for all variations δϕ(x), we thus obtain:

∂L
∂ϕ

= ∂µ
∂L

∂(∂µϕ)
(5.15)

or in the case of multiple fields:
∂L
∂ϕi

= ∂µ
∂L

∂(∂µϕi)
(5.16)

5.2 EM field Lagrangian - no sources

We want:
S =

∫
d4xL(Aµ(x), ∂ν Aµ(x)) (5.17)

note that the Lagrangian depends on the gauge potential Aµ as opposed to the electric/magnetic field.
We want to get the Maxwell equations out of the Euler-Lagrange equations:

∂L
∂Aν

= ∂µ
∂L

∂(∂µ Aν)
(5.18)

What L should we choose? First, we have the equation/Bianchi identity:

∂µ F̃µν = 0 (5.19)

3The proof of the fact that Kusatov has free will is that he can choose any variation he likes, here.
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but this equation is a triviality. This is just true by the definition of the (dual) field strength. So we don’t
want this from the Lagrangian. What we actually want to derive from the Lagrangian is:

∂µFµν = −µ0 Jν (5.20)

For simplicity, let’s start in the case with Jν = 0. We then want to reproduce:

∂µFµν = ∂µ(∂
ν Aν − ∂ν Aµ) = 0. (5.21)

L should satisfy some properties:

• L should be Lorentz invariant - this is because S should be Lorentz invariant, and d4x is Lorentz
invariant.

• L should be gauge invariant - the Maxwell equation and physics we get out of it should be gauge
invariant.

• The Euler-Lagrange equation is linear in Aµ - thus L should be quadratic in Aµ.

Given these conditions, we have only three objects we could conceivably write4:

• −FµνFµν

• −Fµν F̃µν

• −F̃µν F̃µν

Note that −F̃µν F̃µν is proportional to −FµνFµν and so is not a unique possibility, and −Fµν F̃µν is a total
derivative and so does not contribute to the physics. We thus have one possibility remaining:

LEM = − 1
4µ0

FµνFµν (5.22)

The proportionality constant we put there for later convenience, but this is not important for the purposes
of the Euler-Lagrange equation. In the next problem set, you can verify that the E-L equation yields
precisely ∂µFµν = 0. This must work - if it did not, there would be no Lagrangian that could possibly
works, and we just wasted 2 weeks of your time. Writing L in terms of the electromagnetic fields, we
have:

LEM =
1

2µ0

(
1
c2 |E|

2 − |B|2
)

(5.23)

wherein we can immediately see that the Euler-Lagrange procedure would be doomed to fail if we had
used E, B as the fundamental degrees of freedom.

5.3 EM field Lagrangian - with sources

If we want to reproduce the case with sources:

∂µFµν = −µ0 Jν (5.24)

we can simply add the term:

L = − 1
4µ0

FµνFµν + Aµ Jµ. (5.25)

But actually there is a problem here. This Lagrangian is not gauge invariant. If we perform the gauge
transformation:

Aµ → Aµ − ∂µχ (5.26)

4If you can think of another, please tell Kusatov, and he will immediately run to write a paper on it without you.
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Then the Lagrangian picks up a new term:

δL = −Jµ∂µχ (5.27)

Is this a problem? Actually, no. What we really want is not that L is gauge invariant, but that the action
S is gauge invariant. In other words, does δS from making the gauge transformation vanish?

δS =
∫

d4xδL = −
∫

d4xJµ∂µχ = −
∫

d4x∂µ[Jµχ] (5.28)

In the last line, we wrote things as a total derivative; this is valid as:

∂µ[Jµχ] = (∂µ Jµ)χ + Jµ(∂µχ) = Jµ(∂µχ) (5.29)

as ∂µ Jµ = 0 (continuity equation/current conservation). Going back to δS, we can have some discussion
about the integral of the total derivative. As we discussed earlier in lecture, this only receives contributions
from the boundaries of spacetime. So, the action is invariant under gauge transformations that go to zero
rapidly to zero at the boundaries of spacetime. But if we include χs that do not go to zero, we get
physically important boundary terms - they are relevant to charge conservation. But in this course we do
not consider such cases.

Another point to make - the discussion heavily relies on the fact that the current Jµ is conserved. If we
want the action to be invariant under gauge transformations, we can only couple the electromagnetic field
to conserved currents.

5.4 The stress-energy tensor

Now, we can ask what this Lagrangian is good for - of course, we already have the Euler-Lagrange
equation; another answer is we can get the stress-energy tensor for the EM field. Why is this physi-
cally important? You are already viscerally aware of the fact that particles have energy and momenta.
But you also expect that the electromagnetic field also has this property. What is the analogue of the
energy/momentum of a bowling ball for an EM wave?

To review, let’s just remind ourselves of how things work for particles. There, we have momenta:

pi =
∂L
∂q̇i

(5.30)

and the Hamiltonian:
H = pi q̇i −L (5.31)

where if the Lagrangian does not depend on time, H = E is the conserved energy. We want to generalize
this discussion to fields. We have the action:

S =
∫

d4xL(ϕ, ∂µϕ) (5.32)

and if there is no explicit dependence on xµ, then we expect that the action is invariant under xµ → xµ + aµ,
and so we expect pµ to be conserved.

Let us recall the example of electric charge. We have a conserved current:

∂µ Jµ = 0. (5.33)

Why do we care? If we define a charge:

Q =
∫

d3xJ0(x, t) (5.34)
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where Q̇ = 0 as:

Q̇ = (Const.)
∫

d3x∂0 J0 = (Const.)
∫

d3x∇ · J = 0 (5.35)

where the last equality follows from current conservation if we integrate over all space (if we integrate
over a finite region, we keep track of the charge that flows in/out of a region). Note that Q here is a scalar
quantity. This is true because Jµ is a a Lorentz vector.

What about pµ? What is the conserved current in this case¿ Here we expect a tensor Tµν which satisfies
pµTµν = 0. Why is this the case?

pν =
∫

d3xT0ν (5.36)

so:
ṗν = (Const.)

∫
d3x∂0T0ν = (Const.)

∫
d3x∂iTiν = 0 (5.37)

if we integrate over all space. We want a tensor so that the conserved quantity pν we get out of it is a
Lorentz vector.

We define the stress-energy tensor as:

Tµν =
∂L

∂(∂µϕi)
∂νϕi − ηµνL. (5.38)

Let us verify that the conservation equation:

∂µTµν = 0 (5.39)

is satisfied.

∂µTµν = ∂µ

(
∂L

∂(∂µϕi)
∂νϕi

)
− ηµν∂µL

= ∂µ

(
∂L

∂(∂µϕi)

)
∂νϕi +

∂L
∂(∂µϕi)

∂µ∂νϕi − ∂νL(ϕi, ∂µϕi)

=
∂L
∂ϕi ∂νϕi +

∂L
∂(∂µϕi)

∂µ∂νϕi − ∂νL(ϕi, ∂µϕi)

= 0

(5.40)

where in the third equality we use the Euler-Lagrange equation, and in the last equality we can recognize
the terms to cancel out using the chain rule to evaluate the derivative of the Lagrangian.

Next time, we study Tµν for an EM field.

6 Stress Tensor, Angular Momentum, Scale Invariance of EM field

Last time, we found the Lagrangian and thus action for a field:

S =
∫

d4xL(ϕi, ∂µϕ) (6.1)

we then defined the stress tensor:
T̃µν =

δL
δ∂µϕi

∂νϕi − ηµν (6.2)

which is a conserved quantity (from the Euler-Lagrange equations):

∂µT̃µν = 0 (6.3)

This implies that the momenta:

Pν =
∫

d3xT̃0ν (6.4)

are conserved charges.
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6.1 Specific case of the EM stress tensor

Today, we see what this looks like in the case of the EM field. We have the Maxwell Lagrangian:

LEM = − 1
4µ0

FµνFµν (6.5)

with:
Fµν = ∂µ Aν − ∂ν Aµ (6.6)

Aµ ↔ ϕi (6.7)

So the stress-tensor looks like:
T̃µν =

δL
δ∂µ Aλ

∂ν Aλ − ηµνLEM (6.8)

from our general argument last class, it is automatically true that:

∂µT̃µν = 0 (6.9)

Computing the stress tensor from the Lagrangian:

T̃µν =
1

µ0
Fµλ∂ν Aλ − ηµνLEM (6.10)

6.2 Issues with the Definition & Resolution

There are two problems:

• T̃µν is not gauge invariant.

• T̃µν ̸= T̃νµ.

Why is the second one a problem? Well, there should exist a symmetric Tµν.
Suppose we put electromagnetism on a curved spacetime with arbitrary metric gµν. In that case, our

Maxwell Lagrangian takes the form:

LEM = − 1
4µ0

gµαgνβFµνFαβ

√
−g (6.11)

where g = det gµν. I can then define the stress tensor in an alternative fashion:

Tµν = − 2√−g
δLEM

δgµν
(6.12)

The claim is that this stress tensor also satisfies the conservation equation:

∂µTµν = 0 (6.13)

if you’re familiar with GR, you wouldn’t be surprised by this fact, because the stress tensor is how the
metric couples to matter.

Why all of this sidetracking? This new stress tensor is gauge invariant (we get it by taking the func-
tional derivative of a gauge-invariant L with respect to a gauge invariant metric) and also is manifestly
symmetric (the metric is symmetric).

Let’s now try to compute Tµν using this new definition and then see how it differs with our previous
result:

Tµν =
1

µ0

(
F α

µ Fνα −
1
4

ηµνFαβFαβ

)
(6.14)
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A short calculation shows that the difference between Tµν, T̃µν is:

Tµν
∆

∼= Fµλ∂λ Aν (6.15)

The question then becomes - is Tµν
∆ something that has a physical consequence?

• It’s clear that ∂µTµν
∆ = 0 as:

∂µTµν
∆ = ∂µ(Tµν − T̃µν) = ∂µTµν − ∂µT̃µν = 0 − 0 = 0 (6.16)

but we can check it explicitly:

∂µTµν
∆ = (∂µFµν)∂λ Aν + Fµν∂µ∂λ Aν = 0 + 0 = 0 (6.17)

The first term vanishes via the source-free Maxwell equation, and the second term vanishes as we
multiply a symmetric ∂µ∂λ Aν by an antisymmetric Fµν.

•
∫

d3xT0ν
∆ = 0 as it is an integral of a total derivative:

T0ν
∆ = ∂λ(F0λ Aν) (6.18)

The λ = 0 term is absent in this sum (as F00 = 0) and the other terms are spatial derivatives - i.e. a
total derivative which vanishes (assuming no boundary terms) when integrated over all space.

The upshot is that the two definitions are physically equivalent.

6.3 Intepreting the Stress-Energy Tensor

What interpretation does the stress-energy tensor (and its conservation) have? The 00 component can be
interpreted as the energy density:

T00 =
1

2µ0

(
1
c2 |E|

2 + |B|2
)
=

ϵ0

2
|E|2 + 1

2µ0
|B|2 (6.19)

The 0i component looks like:

T0i = Ti0 =
1

µ0c
(E × B)i (6.20)

where − T0i
c has interpretation as the momentum density. It has another role; −cT0i is the Poynting vector,

which is the energy flux of the EM field.
Recall:

P0 =
∫

d3xT00 =⇒ Ṗ0 =
∫

d3xṪ00 (6.21)

and the conservation of the stress-energy tensor tells us:

∂µTµ0 = 0 =⇒ ∂0T00 + ∂iTi0 = 0 (6.22)

so Ti0 (from conservation) tells us about the energy flux.
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6.4 Rotational Invariance

The fact that Maxwell theory is rotationally invariant implies by Noether’s theorem that there is a con-
served angular momentum. Just as there was energy/momentum conservation arising from time/space
translation invariance, there must be an analogous story here. One way to think about this is the following.
Lorentz symmetry implies that there are conserved charges for both boosts and rotations. In 3+1D, there
are 3 boosts and 3 rotations, so we should have 6 conserved charges arising from Lorentz symmetry. We
could then ask how these charges transform under Lorentz transformations. Pµ transformed as a vector
(1 energy + 3 momentum components) under Lorentz transformations. We might at first be puzzled by
the 6 components we see here, but this is analogous to the 3 + 3 components of the E/B field which we
packaged into a 4 × 4 antisymmetric tensor - we do the same here, and expect a tensor Mµν where M0i
correspond to boosts and Mij correspond to rotations. We expect that there are conserved charges Li that
satisfy:

Mij = ϵijkLk (6.23)

All of this is to say - if we are interested in constructing the angular momentum charge carried by some
electromagnetic field, we have to understand how to get these from Lorentz symmetry.

• The electric charge Q corresponds to a conserved current Jµ (satisfying ∂µ Jµ = 0).

• The energy/momentum Pµ correspond to a conserved stress-energy tensor Tµν (a current satisfying
∂µTµν = 0).

• So the angular momentum + the charges associated to boosts Mνλ correspond to a conserved 3-index
tensor Mµνλ (a current satisfying ∂µ Mµνλ).

A hint from classical mechanics is that L = r × p. So a good guess would be to take the stress-energy
tensor and multiply it by a factor of position to get the Mµνλ. Indeed:

Mµνλ = Tµνxλ − Tµλxν (6.24)

Indeed this satisfies:
∂µFµνλ = 0 (6.25)

to check this, note the relation:

∂µxλ =
∂xλ

∂xµ = ηλ
µ. (6.26)

Now calculating:

∂µ Mµνλ = (∂µTµν)xλ + Tµν(∂µxλ)− (∂µTµλ)xν − Tµλ(∂µxν)

= 0 + Tµνηλ
µ − 0 − Tµλην

µ

= Tλν − Tνλ

= 0

(6.27)

where the last equality follows from the fact that Tµν is symmetric. Hence the current is indeed conserved.
Using this, we can write down a formula for the angular momentum for an EM field.

L = ϵ0

∫
d3xx × (E × B) (6.28)

This makes perfect sense. In fact, we already knew what the momentum density was, and we knew
the angular momentum was L = r × p.
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6.5 Scale Invariance

We observe that Tµν is traceless:
T µ

µ = Tµνηµν = 0 (6.29)

what is the significance of this fact? We can write down a conserved current:

Jµ
D = Tµνxν (6.30)

and the nice part about this definition is that:

∂µ Jµ
D = 0 (6.31)

Which if we explicitly work out:

∂µ(Tµνxν) = (∂µTµν)xν + Tµν(∂µxν) = 0 + Tµνηµν = 0 (6.32)

the conservation follows from the traceless condition.
What symmetry of the action gives rise to this conserved current?

SEM = − 1
4µ0

∫
d4xFµνFµν (6.33)

As the title of this section gives away, the action is invariant under the rescaling:

x′ = αx, A′
µ(x′) =

1
α

Aµ(x) (6.34)

’ Let’s work this out:
S′

EM = − 1
4µ0

∫
d4x′F′

µν(x′)F′µν(x′) (6.35)

where:

F′
µν(x′) =

∂A′
ν

∂x′µ
−

∂A′
µ

∂x′ν
=

1
α2 Fµν(x) (6.36)

So then:
F′2 =

1
α4 F2 (6.37)

and the measure also gets rescaled:
d4x′ = α4d4x (6.38)

So the α4s cancel and so:
S′

EM = SEM (6.39)

for any α. Our conserved current associated to this symmetry (dilations) is Jµ
D.

Three comments about this story:

• Remarkably, the scale invariance works out perfectly in 4-dimensions - we use the dimensionality
when rescaling the measure - but things do not work the same in lower/higher dimensions.

• We can view the entire scale invariance story as follows. We can assign scaling dimensions to
quantities. If θ → 1

αn θ, then θ is said to have scaling dimension n. Since x → αx, [x] = −1, and
analogously [Aµ] = +1, [Pµ] = +1 and so on. The action has [S] = 0, which means it is invariant -
this is because [d4x] = −4 and [Fµν] = [∂A] = 1+ 1 = 2 (from the derivative and from A). So [S] = 0
comes from [S] = [F2] + [d4x] = 2 · 2 − 4 = 0.
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• When we couple to charged matter, formally we still have the symmetry. How to see this? We have
in this case that:

δL = Aµ Jµ (6.40)

if we want [δL] = +4 so as to retain the scale invariance (cancel out the −4 from the measure), then
since [Aµ] = +1, we want [Jµ] = +3. Superficially, it looks like we land on our feet because:

Q =
∫

d3xJ0 (6.41)

Since charge is not measured in meters/is invariant under rescaling, and then [Q] = 0 and [d3x] =
−3 so [J] = +3. But actually, this is a little bit too naive, and we will things break when we couple
charged particles to the EM field. If we recall the dispersion:

E2 = (pc)2 + (mc2)2 (6.42)

the dispersion is scale-invariant if m = 0 but otherwise is not scale invariant (as the mass gets
rescaled) - dilations are not a symmetry.

Our next topic (next week) is discussing how plane waves look like in relativistic variables - we will
see that they look quite elegant.

7 Plane Waves, Charged Particles Coupled to EM Fields

7.1 Plane Waves

You’ve already seen plane waves before, but here we discuss it in the Lorentz covariant formalism.
Recall Maxwell’s equations:

∂µFµν = 0 (7.1)

Fµν = ∂µ Aν − ∂ν Aµ (7.2)

with the gauge potential:

Aµ =

(
−ϕ

c
, A1, A2, A3

)
(7.3)

In the Lorenz gauge, we have:
1
c2 ϕ̇2 +∇ · A = 0 (7.4)

in our four-vector notation this takes the elegant and manifestly Lorentz5 covariant form:

∂µ Aµ = 0 (7.5)

The reason why Wald likes the Lorentz gauge is that in this gauge, the four components of Aµ satisfy the
wave equation:

□Aµ = 0 (7.6)

where:
□ = ηµλ∂ν∂λ = ∂ν∂ν (7.7)

In our new formalism, we can write a monochromatic wave as:

Aµ = ξµeikνxν
(7.8)

5Kutasov: This looks like a private joke by God...
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With ξµ the polarization vector. The wave equation then says that:

kµkµ = 0 (7.9)

and hence that:
k2

0 = |k|2 (7.10)

The frequency of the wave by definition is:
ω = ck0 (7.11)

So Eq. (7.10) is nothing more than a statement of the wave dispersion:

ω = c|k| (7.12)

7.2 Polarizations

What do we know about ξµ? It consists of 4 numbers... but we do not expect these to be independent,
given that electromagnetic waves have 2 polarizations. Further, we notice that we have not yet imposed
the Lorentz gauge to see how they could become constrained. If we do, we find:

ξµkµ = 0 (7.13)

This condition brings the 4 independent numbers down to 3. We still aren’t done yet. The thing we forgot
is slightly subtle. We recall that gauge symmetry is the condition that the transformation:

Aµ → Aµ + ∂µχ (7.14)

leaves the physics invariant. When we impose the Lorentz gauge, we have fixed the arbitrariness... or have
we? Actually, it turns out the Lorentz gauge does not completely fix the gauge freedom. Lorentz gauge
says:

∂µ Aµ = 0 (7.15)

and if we want gauge invariance:
∂µ(Aµ + ∂µχ) = 0 (7.16)

in other words, if ξ satisfies the wave equation:

∂µ∂µχ = □χ = 0 (7.17)

then we may add ∂µχ to Aµ - this tells us that we have residual gauge invariance. This is a bit interesting -
precisely when the Aµ is on shell, i.e. when it satisfies the Maxwell equations, the residual gauge freedom
kicks in.

If we have Aµ = ξµeikνxν
with kµkµ = 0, then we can add to it the four-derivative (∂µ) of:

χ = χ0eikνxν
(7.18)

This tells us that we can shift:
ξ
(k)
µ → ξ

(k)
µ + kµχ

(k)
0 (7.19)

where we have added the (k) label to denote that it is the polarization corresponding to a particular
wavevector.

In summary: plane waves are described by Gauge fields of the form:

Aµ = ξ
(k)
µ eikνxν

(7.20)

where we have the three conditions:
k2 = kµkµ = 0 (7.21)

33



kµξ(k)µ = 0 (7.22)

ξ
(k)
µ ∼ ξ

(k)
µ + kµϵ(k) (7.23)

We can now ask how many independent components of ξµ we have. Suppose we have:

kµ = (k, 0, 0, k) (7.24)

i.e. a wave propagating in the z-direction. Let’s check the three conditions. k2 = 0 is clearly satisfied. The
second condition is:

k0ξ0 + k3ξ3 = 0 =⇒ ξ0 + ξ3 = 0 =⇒ ξ0 = −ξ3 (7.25)

The last condition is:
ξ0 ∼ ξ0 + k0ϵ = ξ0 + kϵ (7.26)

ξ3 ∼ ξ3 + k3ϵ = ξ3 + kϵ (7.27)

So together:
ξ0 = ξ3 = 0 (7.28)

and hence we have the remaining two independent polarizations ξ = (0, 1, 0, 0) and ξ = (0, 0, 1, 0).

7.3 Lagrangian of Charged Particle Coupled to EM Field - Consistency conditions

Thus far, we have looked at the action for a free relativistic particle, as well as for free EM fields. Now, we
want to study the Lagrangian for a charged particle coupled to an EM field.

Recall the Lagrangian for a free particle:

S0 = −mc
∫

dλ
√
−ẋµ ẋµ (7.29)

or in the gauge t(λ) = λ:

S0 = −mc2
∫

dt

√
1 − v2

c2 (7.30)

Now, we ask what about charged particles? We write down a natural extension6:

δS = α
∫

dλẋµ Aµ(x) (7.31)

We will find that this is reparametrization invariant, gauge invariant, it is manifestly Lorentz invariant
(the µ indices are contracted), and has other properties we require. α appearing in the above is a constant
we will determine.

Recall reparameterization invariance:∫
dλ

dxµ

dλ

λ→ f (λ)
=

∫
d f (λ)

dxµ

d f (λ)
(7.32)

where if xµ = xµ( f (λ)) then:
dxµ

dλ
=

dxµ

d f (λ)
d f
dλ

(7.33)

This is satisfied by our proposed δS.
Now, let’s think about Gauge invariance; under transformations:

Aµ → Aµ − ∂µχ (7.34)

6But be wary, things that are natural are not automatically correct...

34



The Lagrangian does not look invariant under this. But we recall back to our discussion last week - it
is not the Lagrangian that we require to be gauge invariant, but rather the action. Under the gauge
transformation, we have (up to some constants that we ignore):

δS → δS + (const.)
∫

dλẋµ∂µχ (7.35)

Looking at this newly generated term∫ λ2

λ1

dλẋµ∂µχ
chain rule

=
∫ λ2

λ1

dλ
d

dλ
χ(xµ(λ)) = χ(xµ(λ))

∣∣λ2
λ1

(7.36)

So, the variation only depends on the values of χ at the boundaries of spacetime - it is thus independent
of the local form of χ(xµ). Hence, we conclude that this new term we add to the action is indeed gauge
invariant.

7.4 Fixing the coefficient

Now, we ask what is the constant α? Let us compare it to:∫
d4xAµ(x)Jµ(x) (7.37)

where the multiplicative constant was constrained by what we wanted on the RHS of the Maxwell equa-
tions. Writing the full action (free part + interacting part):

S =
∫

dλ(−mc
√
−ẋµ ẋµ + αẋµ Aµ(x)) (7.38)

Taking λ = t:

S =
∫

dt

[
−mc2

√
1 − ẋ2

c2 − αϕ + αẋ · A

]
(7.39)

Just from this form, it looks like we should make α = q. Why? The first term at low velocity looks like the
mass energy + low-velocity kinetic energy of the particle, and the terms involving the gauge potentials
are just the energy from the interaction of the electric field and the charge of the particle as you saw last
quarter.

But let us see this another way. We can calculate the momentum, using the Lagrangian:

pi =
δL
δẋi

=
mẋi√
1 − v2

c2

+ αAi (7.40)

Now, if I go look into your notes for your quantum mechanics class (taking the |v| ≪ c limit) we find
α = q.

7.5 Lorentz Force Law

From the definitions, you can check (and perhaps will soon, on a pset) that the EL equations take the
following form:

dp
dt

= q(E + v × B) (7.41)

where:
p = mγv (7.42)
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E = −∇ϕ − Ȧ (7.43)

B = ∇× A (7.44)

A couple comments; first, since our Lagrangian is Lorentz invariant, the Lorentz force law that we get
out of it must be Lorentz invariant. It doesn’t look manifestly so, but we can write it in this way. First, we
can define the proper time τ via:

c2dτ2 = −dxµdxµ (7.45)

This definition is interesting because we can define:

uµ =
dxµ

τ
(7.46)

for which:
uµuµ = −c2 (7.47)

is an invariant. We can then show:
duµ

dτ
= − q

γm
Fµνuν (7.48)

which is a Lorentz covariant form of the Lorentz force law.

7.6 Charge Density and Current

Another comment; we already had the coupling:∫
d4xAµ(x)Jµ(x) (7.49)

and writing down a reasonable choice for Jµ for a point particle we could have derived:

q
∫

dλAµ(x)ẋµ (7.50)

but having derived it independently, we can go the opposite direction, and derive what Jµ for a point
particle is from this expression. You can convince yourself that:

ρ(t, x) = qδ(x − x(t)) (7.51)

J(t, x) = q
dx
dt

δ(x − x(t)) (7.52)

where a delta function of vectors is defined as:

δ(x − x(t)) = δ(x − x(t))δ(y − y(t))δ(z − z(t)) (7.53)

Therein: ∫
V

d3xρ(x, t) =

{
q x(t) ∈ V
0 otherwise

(7.54)

as it should. J is the quantity that keeps track of what happens when the particle goes inside the volume.
You can check that this expression correctly satisfies the continuity equation:

ρ̇ +∇ · J = 0 (7.55)

You can also check that if you take the Jµ and substitute it into Eq. (7.49), the integral localizes onto the
worldline of the particle.
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7.7 Charged Particle Motion in Constant Electric Field

We first study the case of B = 0, E = Ex̂. Now, we want to find the trajectory x(t) of a particle of charge q
in such an E-field. Take x(t = 0) = 0 and ẋ(t = 0) = 0. It is clear that y(t) = z(t) = 0 for all t; the motion
is along the x axis. Now, we have the equation of motion:

d
dt

(γv) =
q
m

E (7.56)

where γ = 1√
1− v2

c2

. γv is linear in time, so:

γv =
q
m

Et (7.57)

where there is no t = 0 constant at the velocity is 0 at t = 0. We can now solve for v from the above:

v(t) =
qE
m t√

1 +
(

qE
mc t
)2

(7.58)

Then integrating to get x(t):

x(t) =
mc2

qE

√1 +
(

qEt
mc

)2
− 1

 (7.59)

If you see someone who wants to spend 20 billion dollars on a collider, this is what they have to deal
with7. For qEt

mc ≪ 1, the velocity/position is:

v(t) ≈ qEt
m

, x(t) ≈ 1
2

qE
m

t2 (7.60)

and grows linearly/quadratic in time. The acceleration is qE
m and all velocities are v ≪ c. This is the

familiar expression from high school.
But as time goes by, we get to the other regime where qEt

mc ≫ 1. Then, we have that:

v(t) ≈ c, x(t) ≈ ct (7.61)

so we keep applying an electric field, but the particle is no longer accelerating (a ≈ 0). It is effectively like
the γ factor makes the effective mass of the object larger and larger, and it can no longer be accelerated
further.

Next time, we look at the scenario of the constant magnetic field, and then we get into radiation from
accelerating particles.

8 Charged Particle Motion, Radiation

Last class, we derived the Lorentz force:

dp
dt

= m
dγv
dt

= q(E + v × B) (8.1)

and in the case where B = 0, E = Ex̂ (and x(t = 0) = ẋ(t = 0) = 0) we found:

x(t) =
mc2

qE

√1 +
(

qEt
mc

)2
− 1

 x̂, v(t) =
qEt
m√

1 +
(

qEt
mc

)2
x̂ (8.2)

7But better than spending 20 trillion dollars on some trade war, but that’s not our place here to discuss...
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8.1 Cyclotron motion

We now consider the case where E = 0, B = Bẑ, where x(t = 0) = 0 and ẋ(t = 0) = v0x̂.
The equation of motion is:

d(γv)
dt

=
q
m

v × B (8.3)

Since there are no forces in ẑ the interesting motion is in xy. Further, we observe that |v| is constant, as:

d
dt

((γv) · (γv)) =
2q
m

γv × (v × B) = 0 (8.4)

Thus γ2v2, and therefore v is constant. The solutions to the EOM are:

x(t) = x0 + Rg cos(ωgt + ϕ0) (8.5)

y(t) = y0 − Rg sin(ωgt + ϕ0) (8.6)

z(t) = z0 + vz
0t (8.7)

where:
ωg =

qB
γm

(8.8)

is the cyclotron frequency, and:

Rg =
v

|ωg|
(8.9)

is the Larmor radius.
You’ve likely see this already in your quantum mechanics and classical mechanics courses. But there is

one different in the discussion. Usually, when we discuss the quantum (or classical) Hall effect, we never
think about the electron moving close to the speed of light (in which case γ ≈ 1) so you’ve seen ωg ∼ qB

m .
But in many situations, e.g. accelerators, γ is not small, and so the cyclotron frequency has this important
additional factor.

8.2 Motivation - Radiation of Moving Charges

In both of the given examples, we have charges that are moving, and moreover, accelerating! Hence we
have that these charges emit radiation. We’ll go through a lot of technical details to derive the radiation,
but before we do that, let’s give some motivation for why the detail will be worthwhile.

For example, consider a hydrogen atom. In the classical picture, the electron orbits the proton. It
then spirals into the proton as it emits radiation (from the effect that we calculate today), and the atom
collapses8. But in reality this (fortunately) does not happen, and this is because the radiation emitted from
hydrogen atoms are quantized/not continuous. This was one of the confusions of classical physics and
was one of the motivations for the development of quantum mechanics.

8And we would be out of drinking water
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Another practical example of relevance is accelerators; in either linear or circular accelerators, the
accelerating protons/positrons/electrons emit radiation. This is something you have to account for both
from an energy efficiency perspective, and also to account for in your signal/measurements as known
physics.

8.3 Calculating fields from charges/currents

In the last quarter, you saw tha the gauge fields (ϕ, A) created by (ρ, J) are given by:

ϕ(t, x) =
1

4πϵ0

∫ d3x′

|x − x′|ρ(t
′, x′)

∣∣∣∣∣
ret

(8.10)

A(t, x) =
µ0

4π

∫ d3x′

|x − x′| J(t
′, x′)

∣∣∣∣∣
ret

(8.11)

What do these formulas actually say? We integrate over charges/currents at x′, while our location is x
- we evaluate at the retarded time:

tret = t′ = t − 1
c
|x − x′| (8.12)

which accounts for the locality of the physics - if we move the sources, it takes time for the signal to reach
the point x, as the signal is bounded by the speed of light (c.f. the Coloumb force law which acts at a
distance).
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In terms of the Aµ = (− ϕ
c , A) four vector, we can summarize the above equations as a single one:

Aµ(t, x) =
µ0

4π

∫ d3x′

|x − x′| Jµ(t′, x′)

∣∣∣∣∣
ret

(8.13)

8.4 Deriving the Leonard-Wiechart Potentials

Now, we are interested in finding Aµ for a charged particle is travelling with trajectory r(t). The charge/current
densities are:

ρ(t, x) = qδ(x − r(t)) (8.14)

J(t, x) = qṙδ(x − r(t)) (8.15)

So we can calculate:

ϕ(t, x) =
qµ0c2

4π2

∫ d3x′

|x − x′| δ(x
′ − r(tret)) (8.16)

A(t, x) =
qµ0

4π

∫ d3x′

|x − x′| ṙ(tret)δ(x′ − r(tret)) (8.17)

Usually, we would say that the integral of a delta function is quite easy, but here there is a slight compli-
cation. The problem is that r(tret) depends on x′ through tret:

t(tret) = r(t − 1
c
|x − x′|) (8.18)

To resolve this, let us study the 1-D analog, where we recall the delta function identity:∫
dxg(x)δ( f (x)) =

g
| f ′|

∣∣∣∣∣
f ′=0

(8.19)

In 3-D: ∫
d3xg(x)δ(f(x)) =

∫
d3xg(x)δ( f1(x))δ( f2(x))δ( f3(x))

=
g
|J|

∣∣∣∣
f(x)=0

(8.20)

where J is the 3x3 matrix:

Ji
j =

∂ f i

∂xj (8.21)

and |J| = det J.
With that mathematical aside, let’s turn back to our problem. We have:

g(x) =
1

|x − x′| (8.22)

and:
f(x′) = x′ − r(tret) = x′ − r(t − 1

c
|x − x′|) (8.23)

Calculating J9:

Ji
j =

∂ f i

∂x′j
= δ

j
i −

xj − x′j

c|x − x′|
dri

dt

∣∣∣∣∣
tret

(8.24)

9Kutasov: “The location of indices are important if you are doing mechanics from Arnold’s textbook. If you choose not to
subscribe to this, I support you in this decision - they are not that important. Wald may care about this - he may worship at the altar
of Arnold, but not me”
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To eleborate on this slightly:

∂

∂x′j
|x − x′| = ∂

∂x′j
(
(x1 − x′1)

2 + (x2 − x′2)
2 + (x3 − x′3)

2
)1/2

=
1
2

(−1)
|x − x′|2(xj − x′j) (8.25)

and the full expression we get from that and the chain rule. Evaluating the determinant:

J = |− x − x′

c|x − x′|
dr
dt

∣∣∣∣
tret

| (8.26)

Now, if we use this result to evaluate the potentials, we get the Leonard-Wiechart potentials:

ϕ(t, x) =
µ0c2

4π

1
α

q
|x − r(tret)|

(8.27)

A(t, x) =
µ0

4π

1
α

q
|x − r(tret)|

dr
dt

∣∣∣∣
tret

(8.28)

Where:

α = 1 − 1
c

n̂ · dr
dt

∣∣∣∣
tret

(8.29)

and:

n̂ =
x − r(tret)

|x − r(tret)|
(8.30)

is the direction from the point we are evaluating the potentials x to where the particle was when we see
the signal, assuming the signal travels at the speed of light (hence the evaluation at the retarded time). tret
implicitly depends on r(tret):

tret = t − 1
c
|x − r(tret)| (8.31)

and thus solving for this implicitly is the first step of using these potentials. This looks all complicated,
but it is all in service of making sure that we do not have action at a distance - physics is local, and it takes
time for information to propagate. This hopefully makes the retarded time at least conceptually intuitive.
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8.5 Coloumb’s Law

Let r(t) = rparticle be a constant/fixed position in space for a particle of charged q. Then, we find that
α = 1, and we get for the potentials:

ϕ(t, x) =
µ0c2

4π

q
|x − rparticle|

(8.32)

A = 0 (8.33)

which is consistent with Coloumb’s law. All of the retarded time parts of the expression drops out. But
in the case that the particle is accelerating, e.g. we turn on some electric field, the retarded time becomes
very important - because we don’t see what the particle is doing now, but what it was doing some time
ago.

8.6 E/B fields from Leonard-Wiechart Potentials

We can further ask - what are the E, B fields? Normally you could say - look, we have the Aµ, now give
it to the graduate student to calculate the fields, but alas you are the graduate students so we must do it.
Recall:

E = −∇ϕ − Ȧ (8.34)

B = ∇× A (8.35)

In E we see the time derivative appear, and so to calculate this we must know:

∂tret

∂t
=

1
α

(8.36)

you can work through this yourself, see Wald, or see Kutasov’s notes for why this is the case. We also will
need:

∇tret = − 1
α

n̂ (8.37)

Now, if we plug in ϕ, A into the expressions for E, B, we obtain:

E(t, x) = q
µ0c2

4π

(n̂ − 1
c

dr
dt

)(1 − 1
c2

(
dr
dt

)2
)

α3|x − r(tret)|2
+ q

µ0

4π

n̂ × [(n̂ − 1
c

dr
dt

)× d2r
dt2 ]

α3|x − r(tret)|
(8.38)

where all time derivatives are evaluated at the retarded time. The expression for the magnetic field is
comparatively simple.

cB(t, x) = n̂ × E (8.39)

and we will analyze these next time - in particular, from the exact expressions above, we will study
the radiation we see at spatial infinity. To this end, the first term will not be so important because it is 1

x2

(as opposed to the O( 1
x ) term). The first term in E corresponds to the Coloumb force, the second term

(which depends on the acceleration of the particle! key for radiation) gives us a Poynting vector that goes
as O( 1

x2 ).

9 Far-Field Radiation

Last time, we wrote down the expression for the electromagnetic fields generated by a moving charge
with trajectory r(t):
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E(t, x) = q
µ0c2

4π

(n̂ − 1
c

dr
dt

)(1 − 1
c2

(
dr
dt

)2
)

α3|x − r(tret)|2
+ q

µ0

4π

n̂ × [(n̂ − 1
c

dr
dt

)× d2r
dt2 ]

α3|x − r(tret)|
(9.1)

cB(t, x) = n̂ × E(t, x) (9.2)

with:

α = |−1
c

n̂ · dr
dt

(tret)|, n̂ =
x − r(tret)

|x − r(tret)|
, tret = t − 1

c
|x − r(tret)| (9.3)

9.1 Poynting Vector and Power

The reason why this all looks so complicated is that this is the exact result that applies to all cases. You can
check that for r(t) = x0 that this reduced to the Coloumb field. If x(t) = x0 + vt, this reduces to a problem
you had in your second problem set (which you can solve via boost). If you were only interested in these
two cases, it would be madness to calculate the general case and restrict after, but we are interested in
slightly more sophisticated scenarios. In particular, we want to study radiation. As you learned in the last
quarter, the hero of the story is the Poynting vector:

S =
1

µ0
E × B (9.4)

We are interested in looking at the radiation a large distance from the source, and hence the 1
x2 (with

x = |x − r(tret)| ≈ |x|.

We take the particle motion to be approximately confined to the origin) contributions to S (all higher
order terms we will drop). Looking at E/B, we have two terms:

E ∼ 1
x2 +

1
x

(9.5)

B ∼ E ∼ 1
x2 +

1
x

(9.6)

So when we calculate S by taking their cross product, the leading contribution will come from the product
of the two 1

x terms.
For a given solid angle dΩ, what is the power (energy/time) dP that goes into it?
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Recall from last quarter that:
dP
dΩ

= lim
x→∞

|x|2S · x̂ (9.7)

Be aware that the P above is not the same as the momentum density of the field:

P = ϵ0E × B (9.8)

For us, the power per solid angle is given (after only retaining terms of 1
x2 ):

dP
dΩ

=
q2µ0

16π2cα6 |x̂ ×
[(

x̂ − 1
c

dr
dt

)
× d2r

dt2

]
|2 (9.9)

where the time derivatives are evaluated at tret, which reduces to:

tret = t − 1
c
|x| (9.10)

after taking x ≫ r. Note from Eq. (9.9) that if we have no acceleration, then we have no radiation.
Note that we can write down a related quantity dP′

dΩ , with P′ the energy per unit retarded time (the
energy seen by the emitter):

dP′

dΩ
=

dP
dΩ

dt
dtret

=
dP
dΩ

α =
q2µ0

16π2cα5 |x̂ ×
[(

x̂ − 1
c

dr
dt

)
× d2r

dt2

]
|2 (9.11)

In other words, if we know how to calculate one, we can easily obtain the other.

9.2 Nonrelativistic Limit & Connection to Dipoles

Note that even though the particle is accelerating, we can put ourselves in a frame where dx
dt = 0 (more

specifically, we can consider that the particle is moving sufficiently slowly that 1
c

dx
dt ≪ 1) instantaneously

at tret. Then:

α = 1 − 1
c

n̂ · dx
dt

(tret) = 1 (9.12)

In this case, we can write down a simpler looking formula:

dP′

dΩ

∣∣∣∣∣dx
dt =0

=
q2µ0

16π2c
|x̂ ×

[
x̂ × d2r

dt2

]
|2 (9.13)

An interpretation is that the above formula corresponds to the power radiated from a particle accelerating
from rest. Using vector identities, we can write it as:

dP′

dΩ

∣∣∣∣∣dx
dt =0

=
q2µ0

16π2c

(
|d

2r
dt2 |

2 − |x̂ · d2r
dt2 |

2

)
(9.14)

Recall back to last quarter, where you looked at the time-dependent dipole (with moment p):

S =
µ0x̂

16π2c|x|2

|d2p
dt2 |2tret −

(
x̂ · d2p

dt2

)2
∣∣∣∣∣∣
tret

 (9.15)
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We notice that this looks strikingly similar to the formula we have derived. This is no coincidence. Let’s
think about the dipole moment:

p =
∫

d3xρ(x)x (9.16)

The particle we are dealing with can be thought of:

ρ(x) = qδ(x − r(t)) (9.17)

which has the dipole moment:
p = qr(t) (9.18)

and now we’re in business - if we plug this into Eq. (9.15) we will recover the power per solid angle of Eq.
(9.14).

We can also ask: How does dP
dΩ depend on the angle ϑ between the acceleration of the source and the

observation point?

It is the same answer as you found for the dipole last quarter:

dP
dΩ

∝ sin2 ϑ (9.19)

9.3 Relativistic Case - Special Limits

What if we go away from the nonrelativistic limit - therein we consider a velocity:

dr
dt

(tret) = vẑ (9.20)

where v
c is no longer small. Letting θ be the polar angle

We can take:
α = 1 − v

c
cos θ (9.21)

Let us consider two special cases:
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• d2r
dt2 , dr

dt are parallel. This is the case, e.g., in a linear accelerator. In that case we have:(
dP
dΩ

)
∥
=

q2µ0

16π2c
sin2 θ

(1 − v
c cos θ)6 |

d2r
dt2 |

2 (9.22)

(
dP′

dΩ

)
∥
=

q2µ0

16π2c
sin2 θ

(1 − v
c cos θ)5 |

d2r
dt2 |

2 (9.23)

Note that since the acceleration/velocity are perpendicular, ϑ = θ and hence the two angles appear-
ing in the above are the same.

• d2r
dt2 and dr

dt are perpendicular. This is the case, e.g., when a particle is moving in a circle, where the
acceleration points into the center and the velocity points tangent to the circle. In this case, we find:(

dP
dΩ

)
⊥
=

q2µ0

16π2c
1

(1 − v
c cos θ)2 |

d2x
dt2 |

2

[
(1 − v

c
cos θ)2 − (1 − v2

c2 ) sin2 θ cos2 ϕ

]
(9.24)

Where θ, ϕ are the Euler angles (polar and azimuthal angle of the observer relative to the velocity
and acceleration... I think).

A remark - in the v → c limit, the power is concentrated in the forwards direction.

9.4 Larmor Formula and Generalization

When designing an accelerator, we want to know the total power that gets radiated. This can be calculated
by integrating over all solid angles:

P =
∫

dΩ
dP
dΩ

=
∫

sin θdθdϕ
dP
dΩ

(9.25)

In particular in the limit that v ≪ c, you saw last quarter (p.84 in Wald) that:

P0 =
q2µ0

6πc
|d

2r
dt2 |

2
ret (9.26)

This is an interesting formula, because we can calculate the energy that gets lost over the period of
acceleration (assuming the particle does not approach relativistic speeds, for P0). We can analyze the
units:

E
T

= P =
q2µ0

c

(
L

T2

)2
(9.27)

from Coloumb we know that:

E =
1
ϵ0

q2

L
=

q2µ0

c2
1
L

(9.28)

and so we find:

c3 =
L3

T3 (9.29)

so the dimensions check out. This is a useful check of your results, e.g. on your midterm if you have time.
To generalize the Larmor formula, we have to consider finite v

c . Either we can redo the entire calculation
with all the factors of v we neglected. But there is a quicker way; that is to note two things:

• P is a Lorentz scalar

• P only depends on v, v̇.
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The second expression is obvious. The first is a little more subtle, you can see it in Wald 183, but it has to
do with the fact that:

P =
dE
dt

(9.30)

and both E, t are zeroth components of four-vectors. With these two facts, we find that the analog of the
total power is:

P =
q2µ0

6πc
γ6

[
|v̇|2 −

(
v × v̇

c

)2
]

(9.31)

Next time, we have 20 minutes more discussion on this topic, and that concludes the midterm coverage.

10 Linear/Circular Accelerators, Radiation from Continuous Sources I

10.1 Linear/Circular Accelerators

Last time we derived the generalization of the Larmor formula:

P =
q2µ0

6πc
γ6

[
|v̇|2 −

(
v × v̇

c

)2
]

ret

(10.1)

with γ = 1√
1− |v|2

c2

the familiar Lorentz factor. Let us study the two cases:

• v ∥ v̇ (relevant for linear accelerators). In this case, we have that v × v̇ = 0, so the formula simplifies
to:

P =
q2µ0

6πc
γ6|v̇|2 (10.2)

The structures appearing here can be naturally written in terms of the change in (relativistic) mo-
mentum p = mγv:

dp
dt

= m
d
dt

(γv) = m
d
dt

 v√
1 − v2

c2

 = mγ3v̇ (10.3)

We can thus write Eq. (10.2) in terms of the rate of change of momentum:

P =
q2µ0

6πcm2

(
dp
dt

)2
(10.4)

How do we interpret this? Well, recall the particle satisfies the dispersion relation:

E2 = p2c2 + (mc2)2 = mγc2 (10.5)

We find from the above that, in the linear case:

dp
dt

=
dE
dx

(10.6)

where we parametrize the particle energy at position E(x). If we make this replacement:

P =
q2µ0

6πcm2

(
dE
dx

)2
(10.7)
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This is much more visual. The whole reason why we made this accelerator is to accelerate particles,
and we only have a finite amount of real estate to do this. We therefore want the rate of change of
the energy of the particle to be as large as possible. But then we pay the price in radiation10.

• v ⊥ v̇ (relevant for circular accelerators). In this case, the cross product of the velocity/acceleration
is just the product of the magnitudes, so |v × v̇|2 = |v|2|v̇|2 and so:

P =
q2µ0

6πc
γ4|v̇|2 (10.8)

Compare the γ4 to the γ6 for the linear accelerators. But, in the circular case, we pay the price of γ4

even if the particle does not accelerate - it costs energy to just keep the particle moving around. In
particular, we can ask - how much energy is lost per revolution11?

For radius ρ, can write the period as:

T =
2πρ

v
=

2πρ

cβ
(10.9)

the acceleration is then:

a =
v2

ρ
(10.10)

And we find:

∆E = TP =
1
3

q2µ0γ4 v3

ρ
(10.11)

In the LHC, the charged particles are protons, and the radius is ρ ∼ 27km. The mass of the protons
are:

mPc2 ∼ 1GeV (10.12)

The energies the protons are accelerated to are:

E ∼ 10TeV = 10000GeV (10.13)

So:
E = mpγc2 =⇒ γ =

E
mpc2 = 10000 (10.14)

In this limit, v ∼ c and so:

∆E =
1
3

q2µ0γ4 c3

ρ
∼ 2.2keV (10.15)

Note that this is not the energy lost to radiation while accelerating the protons, but rather the energy
lost per revolution after they are already brought up to speed. You might say that the 2.2keV looks
puny in comparison to the 10TeV energy. But you have to remember that every second, the protons
do 10000 revolutions. Therefore, each second we lose 22MeV, and we must inject this amount of
energy if we do not want the protons to slow down. This operates 8-10 hours a day, and there is
more than 1 proton in the system... it is not our job here, but if you go into designing accelerators in
the future, this is something you will need to think about.

End of midterm content.
10There is no such thing as a free lunch. There is such a thing as a very expensive lunch.
11One time around the circle, not the communist revolution
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10.2 Solving Maxwell for continuous sources

Consider now the continuous distributions ρ(x, t), J(x, t). The question we want to discuss is simple -
somebody hands you the above, and you want to solve the Maxwell equations with these sources. A good
discussion of the

A couple comments:

• We are dealing with linear differential equations, and thus the general solution with a given source
Jµ(x) is the same as any particular solution Ap

µ(x) with the source + the general solution of the
homogenous equation/source-free case Afree

µ (x).

• If A(1)
µ is a solution for source J(1)µ and A(2)

µ is a solution for source J(2)µ , then A(1)
µ + A(2)

µ is a solution

for source J(1)µ + J(2)µ .

These two observations simplifies things considerably. Namely, it suffices to consider:

ρ(x, t) ?
= ρ(x) exp(−iωt) (10.16)

There are some points to make. First, the ρs appearing on different sides of the equation are different
functions, but we will have to accept such abuse of notation. Second, the RHS is complex, so we really
have to take the real part:

ρ(x, t) = ℜ(ρ(x) exp(−iωt)) (10.17)

Back to the central point - why can we generically write things this way? Well, consider the Fourier
transform:

ρ(x, t) =
1

2π

∫
dωρ̃(x, ω)eiωt (10.18)

then the fact that we can take linear superpositions of solutions tells us that it suffices to look at ℜ(ρ(x) exp(−iωt)).
Similarly, we consider:

J(x) = J(x, t) = ℜ(J(x)e−iωt) (10.19)

If we plug these into the continuity equation:

∂tρ +∇ · J = 0 (10.20)

then:
iωρ(x) = ∇ · J(x) (10.21)

We can now obtain the vector potential:

A(x) =
µ0

4π

∫
d4x′

J(x′)
|x − x′| δ(t

′ − t +
|x − x′|

c
) (10.22)

And analogous for ϕ. We remark that this vanishes if J = 0, which is not true for the general solution - it
is just a particular solution. When we write down the above, we are fixing the freedom in A, and saying
that we are only interested in the vector potential that arises from the sources of interest.

The time part of the integral is very simple, because we only get a contribution from the delta function:

A(x) =
µ0

4π

∫
d3x′J(x′)

eik|x−x′ |

|x − x′| (10.23)

with k = ω/c. We have also made the same replacement that A(x) = A(x)e−iωt in the above so the
dependence drops out. Now writing down the field:

H =
1

µ0
B =

1
µ0

∇× A (10.24)
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and E we obtain as:
E =

iZ0

k
∇× H (10.25)

with:

Z0 =

√
µ0

ϵ0
(10.26)

the impedance of the vacuum.
Presumably, there is some finite region in space where the source Jµ is nonzero. The integral over x′ in

Eq. (10.23) therefore is actually over a finite region. One scale that appears is d (the size of the distribution)
and another is the wavelength λ = 2π

k , which governs the length over which the exponent varies. Finally,
there is a third scale r = |x| which is the distance from the source to the detector.

Because we have only so much time, we assume d ≪ λ. There are then two limits to consider, the
near-field region d ≪ r ≪ λ and the far-field region d ≪ λ ≪ r (the intermediate cases are the most
complicated):

In the near-field region, eik|x−x′ | ≈ 1, because |x − x′| never goes to scales above λ. In this limit, the
integral becomes simple:

A(x) =
µ0

4π

∫
d3x′

J(x′)
|x − x′| (10.27)

which is the static case which you studied in PHYS 322. This limit is not interesting to us, because we are
trying to study radiation from this source. What about the far-field limit? In this limit, we might want
to say we can erase the x′ in the denominator and numerator. This is half right; we can omit it in the
denominator, but not in the numerator. Let’s see why this is.
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Let’s study |x − x′|2:
|x − x′| = |x|2 − 2x · x′ + |x′|2 (10.28)

The last term can indeed be neglected as it is O(d2) while the other terms are O(r2), O(r); writing x = rn̂,
we have:

|x − x′|2 ∼ r2 − 2rn̂ · x′ (10.29)

and so:
|x − x′| = r − n̂ · x′ + O(

1
r
) (10.30)

Then:

A(x) =
µ0

4π

eikr

r

∫
d3x′J(x′)e−ikn̂·x′ (10.31)

The first observation; if we look at the prefactor eikr

r , we find that A ∼ 1
r , so E, B ∼ 1

r and so the Poynting
vector at leading order goes as 1

r2 , which is the appropriate form for having finite radiation. Pictorially, it
looks like an outgoing spherical wave. If we look at the second/integral term, this is O(1) as there is no
r dependence. But, it is not negligible - it does have angular dependence. The answer will depend on the
direction we put our detector n̂ = n̂(θ, ϕ). Depending on the current distribution, we get different values
for the angles θ, ϕ. Our task for next time is to finish analyzing this far-field result.

11 Radiation from Continuous Sources II

11.1 Review of Continuous Distribution Maxwell Solutions
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Since Maxwell’s equations are linear, we can fourier transform in time and take:

ρ(x, t) = ρ(x)eiωt (11.1)

J(x, t) = J(x)eiωt (11.2)

And with the continuity equation:
ρ̇ +∇ · J = 0 (11.3)

the two are related by:
iωρ(x) = ∇ · J(x) (11.4)

Npw, solving Maxwell’s equation with these sources, we have:

A(x) =
µ0

4π

∫
d3x′J(x′)

eik|x−x′ |

|x − x′| (11.5)

with k = ω
c = 2π

λ . A0 is fixed by the Lorentz gauge condition. From these we get the EM fields:

H =
1

µ0
B =

1
µ0

∇× A (11.6)

E =
iZ0

k
∇× H (11.7)

with Z0 =
√

ϵ0
µ0

.

We studied the long wavelength limit λ ≫ d, and discussed the different regimes where we could
place our detector; the near field is where |x| ∼ d, the intermediate field is where |x| ∼ λ, and the far field
where |x| ≫ λ. In this far-field regime:

A(x) =
µ0

4π

eikr

r

∫
V

d3x′J(x′)e−ikn̂·x′ (11.8)

with r = |x|. There is no r dependence left in the integral, but there is an angular dependence through
n̂ · x′. In particular this integral depends on d, λ, θ, ϕ.

11.2 The Electric Dipole Approximation

How do we analyze this integral? We can do a power series in the exponential, and get a power series in
d
λ . Doing this: ∫

d3x′J(x′)e−ikn̂·x′ =
∞

∑
j=0

(−ik)j

j!

∫
d3x′J(x′)(n̂ · x′)j (11.9)

Looking at j = 0 - this is the electric dipole approximation:

A(x) =
µ0

4π

eikr

r

∫
d3x′J(x′) (11.10)

Why is it called this? Indeed, if we consider:

θ =
∫

d3x′x(∇ · J(x′)) = −
∫

d3x′J(x′) (11.11)

Where in the last equality we have used integration by parts. We also have assumed that the boundary
terms vanish - we are in fact interested in the setting where if we exit the region of the source, the currents
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go to zero. On the other hand, we can replace ∇ · J(x′) = iωρ(x′) by the continuity equation. With this in
mind, let us rewrite the vector potential as:

A(x) = − iµ0ω

4π
p

eikr

r
(11.12)

with:
p =

∫
d3x′x′ρ(x′) (11.13)

So we now understand why this is called the dipole approximation - a time dependent dipole gives rise
to this vector potential. From this, we get the magnetic field (as you will check on the problem set):

H =
ck2

4π
n̂ × p

eikr
r

(11.14)

and the electric field:
E = Z0H × n̂ (11.15)

There is a nice picture here, namely that the electric field, magnetic field, and n̂ are all perpendicular. EM
waves are transverse. From this, we can find the power per solid angle:

dP
dΩ

=
c2Z0

32π2 k4|(n̂ × p)× n̂|2 (11.16)

which is why the sky is blue, as the power goes as ∼ 1
λ4 (Rio note: the sky is not purple because of the

blackbody spectrum of the sun and the sensitivity of the eyes). Taking the angle between p and n̂ to be
sin(θ), we can write the above as:

dP
dΩ

=
c2Z0

32π2 k4|p|2 sin2 θ (11.17)

Integrating over all angles:

P =
c2Z0k4

12π
|p|2 (11.18)

11.3 Center-Fed Antenna

As an example, we can consider an antenna12, in particular a center fed antenna:

We can then consider the current density to be:

J(x, t) = ẑJ(x, t) = ẑδ(x)δ(y)I(z)e−iωt (11.19)

With the current:
I(z, t) =

∫
dxdyJ(x, y, z, t) (11.20)

We now have the engineering choice for how to craft the current profile; so long as we choose the current
to vanish at the edges, anything is ok. For example:

12As you can tell, I am obsessed with antennas... I will have to stop myself from putting it on the final.
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where the above graphic describes:

I(z) = I0(1 −
2|z|

d
) (11.21)

we can now calculate the radiation from this antenna. We first calculate the ρ′:

ρ′(z, t) =
∫

dxdyρ(x, y, z, t) (11.22)

from the continuity equation:
∂

∂t
ρ′(z, t) +

∂

∂z
I(z, t) = 0 (11.23)

after we strip off the time dependence:

ρ′(z) =

{
2iI0
ωd 0 ≤ z ≤ d/2
− 2iI0

ωd −d/2 ≤ z < 0
(11.24)

There is a discontinuity at z = 0 as we feed current through the middle here in a non-differentiable way.
In a real device the current we supply will be smooth. There is only a z-component to the dipole moment:

pz =
∫ d/2

−d/2
dz′z′ρ′(z′) =

iI0d
2ω

(11.25)

px = py = 0 (11.26)

So then we have:
dP
dΩ

=
Z0 I2

0
128π2 (kd)2 sin2 θ (11.27)

and:

P =
Z0 I2

0 (kd)2

48π
(11.28)

which is the antenna analogue of the (non-relativistic) Larmor formula (non-relativistic as from our long-
wavelength approximation, ω is small).

“I’m very happy that people are thinking... unusual experience for me, I guess” - David Kutasov

11.4 j = 1: Antisymmetric/Magnetic Dipole Term

Now we’ll go to j = 113. From our power series formula:

A(x) =
µ0

4π

eikr

r
(−ik)

∫
d3x′J(x′)n̂ · x′ (11.29)

13Going to be a long course... we’ll be here in August going to j = 3. But more seriously, in some fields of physics people do go
to very high orders of perturbation theory.
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So Ai involves Jin̂jx′j. It will be useful for us to split Jix′j into a symmetric and antisymmetric part:

Jix′j =
1
2
(Jix′j + Jjx′i)︸ ︷︷ ︸

(ij)

+
1
2
(Jix′j − Jjx′i)︸ ︷︷ ︸

[ij]

(11.30)

These two terms will have slightly different interpretations in terms of moments of the charge distribution.
Let’s look at the antisymmetric part first:

Jix′j − Jjx′i = ϵijk(J × x′)k (11.31)

Then:

Jin̂jx′j
antisym
=

(
1
2

n̂ × (x′ × J)
)

i
(11.32)

Why is this interesting? The magnetic moment density enters the above expression:

M(x) =
1
2

x × J (11.33)

where the net magnetic moment is:

m =
∫

d3xM(x) (11.34)

the bottom line is that the vector potential looks quite simple:

A(x) =
ikµ0

4π
n̂ × m

eikr

r
(11.35)

with associated magnetic/electric fields:

H =
1

4π
k2(n̂ × m)× n̂

eikr

r
(11.36)

E = − Z0

4π
k2n̂ × m

eikr

r
(11.37)

so we see the same pattern where both the electric and magnetic fields are orthogonal to the direction of
propagation of the wave.

One question we could ask is how is this related to the electric dipole story from earlier? You can read
in Kutasov’s notes how the two calculations are related by electromagnetic duality.

11.5 j = 1: Symmetric/Electric Quadrupole Term

For the symmetric term, we are interested in the integral:

1
2

∫
d3x′

[
(n̂ · x′)J(x′) + (n̂ · J(x′))x′

]
(11.38)

By the continuity equation, the above becomes:

− iω
2

∫
d3x′x′(n̂ · x′)ρ(x′) (11.39)

From which we obtain:

A(x) = −µ0ck2

8π

eikr

r

∫
d3x′x′(n̂ · x′)ρ(x′) (11.40)
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qualitatively, it does indeed look like one higher moment of the charge distribution, with ρ(x′) giving
the total charge/monopole term, x′ρ(x′) giving the dipole term, and x′(n̂ · x′)ρ(x′) giving the quadrupole
term. The resulting magnetic/electric fields are given by:

H =
ik
µ0

n̂ × A (11.41)

E =
ik
µ0

Z0(n̂ × A)× n̂ (11.42)

It is the now-familiar pattern of n̂, H, E being mutually orthogonal in the far-field limit. This will be
the starting point of our discussion next time, where we will elaborate on the discussion of quadrapole
moments. We could ask why do we care about these - in some situations it could be that not only the total
charge/monopole term is zero, but also that the dipole moment also vanishes. In this case the quadrapole
could be the leading contribution to the fields and thus to the radiation. In the problem set, you will see
an example where this is indeed the case.

12 Radiation from Continuous Sources III, Electromagnetic Fields in
Media

12.1 Review

We have been studying the radiation from a charge/current density:

J(x, t) = J(x)e−iωt

ρ(x, t) = ρ(x)e−iωt
(12.1)

where ω = c 2π
λ and the current/source is nonzero on length scale d. We expanded in d

λ ≪ 1; the leading
order approximation is the electric dipole contribution. The first subleading terms came in the form of the
magnetic dipole and the electric quadrupole terms. The magnetic dipole fields looked like:

A(x) =
ikµ0

4π
n̂ × m

eikr

r
(12.2)

with the net magnetic moment defined as the integral of the magnetization density:

m =
∫

d3xM(x) (12.3)

M(x) =
1
2

x × J (12.4)

12.2 Electric Quadrupole Fields

We arrived at the magnetic dipole/electric quadrupole term via the symmetric/antisymmetric decompo-
sition:

Jix′jnj =
1
2
(Jin̂ · x′ + x′iJ · n̂) + a.s. (12.5)

Let’s now study the symmetric term appearing above to find the fields from the electric quadrupole:

1
2

∫
d3x′(n̂ · x′J + (n̂ · J)x′) (12.6)
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Like last class, we can use the continuity equation to manipulate this integral:

iωρ(x) = ∇ · J (12.7)

wherein the integral of Eq. (12.6) becomes (after using the continuity equation and integrating by parts):

1
2

∫
d3x′x′(n̂ · x′)ρ(x′) (12.8)

We then get an analogous formula to the (far zone) vector potential as we got for the magnetic dipole:

A(x) =
µ0ck2

8π

eikr

r

∫
d3x′x′(n̂ · x′)ρ(x′) (12.9)

You can check that this is indeed subleading in d
λ (compared to the electric dipole term). Computing the

fields:

H =
ik
µ0

n̂ × A = − ick3

8π

eikr

r

∫
d3x′(n̂ × x′)(n̂ · x′)ρ(x′) (12.10)

E =
ik
µ0

Z0(n̂ × A)× n̂ (12.11)

Note these have angular dependencies that differ from the electric fields, which you can check in your
own time.

12.3 Moments of a Charge Distribution & the Quadrupole Tensor/Radiation

• First moment (electric monopole/total charge):

Q =
∫

d3xρ(x) (12.12)

• Second moment/first subleading moment (electric dipole):

p =
∫

d3xxρ(x) (12.13)

which is of particle interest if the total charge is indeed zero, for example for a neutral atom. An
example we can consider is the charge distribution sketched below:
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where by inspection Q = 0, and for the dipole we find:

px =
∫ ∞

−∞
= xρ(x) = 2

∫ a+d

a
dxxρ0 = ρ0

[
(a + d)2 − a2

]
(12.14)

This is the leading effect of the presence of this charge if we view this distribution from large
distances.

• Third moment/Second subleading moment (electric quadrupole). Consider the tensor:

Tij =
∫

d3xxixjρ(x) (12.15)

we note that Tij is manifestly symmetric. This has 3·4
2 = 6 independent components. This is actu-

ally pretty interesting - Tij transforms as 5+1 dimensional object. This just means that the trace is
rotationally invariant:

Tii =
∫

d3xx2ρ(x) (12.16)

the 5 then corresponds to the traceless and symmetric part of the matrix. In the SU(2) language,
this is the spin-2 representation (which has 2j + 1 components), here we deal with SO(3), but they
are closely related. The traceless part we can write in the following way:

Qij = 3Tij − δijTkk (12.17)

The claim to fame of this object is that it is traceless:

Qii = 3Tii − δiiTkk = 3Tii − 3Tkk = 0 (12.18)

How does this tensor help us? Going back to our integral that appeared in the quadrapole moment,
we could write in index notation:

− iω
2

∫
d3x′x′k(n̂l x′l)ρ(x

′) (12.19)

We can then write:
x′kx′l =

1
3
(3x′kx′l − δkl |x′|2) +

1
3

δkl |x′|2 (12.20)

We note that the 1
3 δkl |x′|2 term does not contribute to the fields, so we get14:

H = − ick3

24π

eikr

r
n̂ × Qn̂ (12.21)

where Q is the 3x3 traceless symmetrix matrix Qij, and:

Qn̂ = Qijnj (12.22)

We can then calculate the electric field E from Eq. (12.11), and then from this calculate the differential
power15:

dP
dΩ

=
c2Z0

1152π2 k6|(n̂ × Qn̂)× n̂|2 (12.23)

This tells us how much radiation is associated with the quadrapole moment of the distribution. If
we integrate over all angles:

P =
c2Z0k6

1440π

3

∑
ij
|Qij|2 (12.24)

this goes as k6, while the dipole contribution goes as k4. This is exactly as we expect - with each
higher order moment we get one more power of d

λ (k - the d is hiding in the moment) and hence in
the power with each moment we get two more powers of k.

14The 24 comes from the fact that famously 24 = 8 × 3
15I won’t do the factorization of 1152 for you...
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12.4 Review - Electrostatics in Media

Now we move back to Wald (Chapter 6) and discuss electrodynamics in media, e.g. the study of light
waves propagating in water. Last quarter you looked at electrostatics in media, but now we look at what
changes in the dynamical case. But, since its been a while since you’ve had this discussion, let us review.

Suppose we were in a non-vacuous media16.There, there are notions of free charges and currents, as
well as dipoles that may react to external fields and polarize the substance. It is also useful to average
over a distance L (not worry about the microscopics of the medium). Suppose ψ is any physical quantity.
We can then define the average as: 〈

ψ
〉
(x) =

∫
d3x′ψ(x′) fl(x − x′) (12.25)

where fl(x − x′) is a function that starts at 1 and drops off smoothly/quickly at length scale L.

We can look at the D-field in vacuum:

Dvac = ϵ0Evac (12.26)

which we can average, anticipating that in matter we will want to coarse grain:

⟨Dvac⟩ = ϵ0 ⟨Evac⟩ (12.27)

in matter we further add a polarization term:

⟨D⟩ = ϵ0 ⟨E⟩+ ⟨P⟩ (12.28)

and there is an analogous expression for the H-field:

⟨H⟩ = 1
µ0

⟨B⟩ − ⟨M⟩ (12.29)

12.5 Modifying Maxwell’s Equations

The first question we may ask is how we may modify Maxwell’s equation now that we are inside a
medium. The first thing to say is that Maxwell’s equations are always true - so let’s just start by writing
them down again:

∇ · E =
ρ

ϵ0
(12.30)

∇× B − 1
c2 Ė = µ0J (12.31)

16I suppose air is technically a non-vacuous medium... certainly less violent than if the room was filled with honey. It would be
quite difficult to breathe.
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∇ · B = 0 (12.32)

∇× E + Ḃ = 0 (12.33)

as we discussed when we studied the relativistically covariant version of the Maxwell equations, the
source-free/Bianchi identity equations (Eqs. (12.32), (12.33)) just become their averaged versions:

∇ · ⟨B⟩ = 0 (12.34)

∇× ⟨E⟩+
〈

Ḃ
〉
= 0 (12.35)

and further we remember from our discussion of electrostatics that Eq. (12.30) can be modified to be:

∇ · ⟨D⟩ =
〈

ρ f

〉
(12.36)

with ρ f the free charge density. The last equation Eq. (12.31) requires a little more consideration. Last
quarter you saw that:

⟨J⟩ static
=
〈

J f

〉
+∇× ⟨M⟩ (12.37)

but this is modified now to include a time derivative of the polarization:

⟨J⟩ =
〈

J f

〉
+∇× ⟨M⟩+ ∂

∂t
⟨P⟩ (12.38)

then combining this with:

⟨H⟩ = 1
µ0

⟨B⟩ − ⟨M⟩ (12.39)

we find the equivalent of Eq. (12.31):

∇× ⟨H⟩ − ∂

∂t
⟨D⟩ =

〈
J f

〉
(12.40)

note the presence of the new ∂t ⟨D⟩ term! this was not important last quarter in electrostatics, but it is
something we must consider here.

The situation is quite a bit subtle in the dynamic case. In the static case for example, there is no
ambiguity about what are free charges - free charges are what can move in the presence of an external
electric field, while the bound charges are those that do not move. So there is no mystery about what
ρ f is. But here it is not obvious what ρ f is - how do we think about an electron that stays in the metal
(but moves) in the presence of a sinusoidal field; is it free or bound? Really the issue is whether the
microscopic charges contribute to ρ f or to the polarization P (and a similar story with J f and M). There
is an ambiguity, and we have to make sure we do not double count the contributions. This whole speech
was to say that we need to break this ambiguity somehow - here we will take P seriously.

Note that P, E are not independent, and indeed the polarization depends on the electric field. Let us
work in the limit where:

⟨P⟩ ∝ ⟨E⟩ (12.41)

and so:
⟨D⟩ = ϵ ⟨E⟩ (12.42)

and similarly:

⟨H⟩ = 1
µ
⟨B⟩ (12.43)

What are ϵ, µ? They are features of the material that we must measure. We will focus on how to modify
this discussion in the dynamical case. What we’ve assumed -

〈
P(t)

〉
∝
〈
E(t)

〉
- doesn’t quite make

sense because it implies that the polarization at time t reacts to the electric field at the same time t
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instantaneously. For now, let us pretend it is correct in the sense that the variation of the electric field
in time is slow (and so the material has time to react). Thus Maxwell’s equations (with sources) can be
written as:

∇ · ⟨E⟩ = 1
ϵ

〈
ρ f

〉
(12.44)

∇× ⟨B⟩ − µϵ
〈

Ė
〉
= µ

〈
J f

〉
(12.45)

These equations look the same as the equations in vacuum, just that we have replaced fields with their
averages and have replaced ϵ0, µ0 → ϵ, µ. We can define the index of refraction:

n =

√
ϵµ

√
ϵ0µ0

(12.46)

and if we go to the discussion in Wald chapter 5 and replace all ϵ0, µ0, c, ρ, ϕ f → ϵ, µ, c/n,
〈

ρ f

〉
,
〈

ϕ f

〉
, we

will find EM waves propagating with speed c/n. In a little more detail, we can define a “Lorenz gauge”:

n2

c2

〈
ϕ̇
〉
+∇ · ⟨A⟩ = 0 (12.47)

where in this gauge:

□̃
〈
ϕ
〉
= −1

c

〈
ρ f

〉
(12.48)

□̃ ⟨A⟩ = −µ
〈

J f

〉
(12.49)

and:

□̃ = −n2

c2
∂2

∂t2 +∇2 (12.50)

where n2

c2 = 1
c2

mat
.

A couple more comments - suppose the material we consider was infinite in extension. Then the waves
propagate forever in the material. But any real material of course has a boundary.

We then have the boundary conditions:

•
〈

E∥

〉
, n̂ · ⟨B⟩ are continuous

• If there are no δ-function contributions to
〈

ρ f

〉
,
〈

J f

〉
, then n̂ · ⟨D⟩ ,

〈
H∥

〉
are continuous.

Next week, you will study this scenario, and derive Snell’s law on your problem set.
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13 Electromagnetic fields in Media II

13.1 Review

Last time we reviewed notions of EM in media in the static case as you learned last quarter. We made a
couple approximations; first we assumed a linear relationship between the polarization and the electric
field:

⟨P⟩ (t, x) = ϵ0χ ⟨E⟩ (t, x) (13.1)

where ⟨·⟩ denotes averaging over region of macroscopic size L. The above equation is equivalent to:

⟨D⟩ (t, x) = ϵ ⟨E⟩ (t, x) (13.2)

Two curious things - the polarization is sensitive instantaneously at time t, and it is also local in x. The
second observation is ok (in the non-relativistic setting), but the first is a bit concerning - we would
expect the polarization in the material to be resulting from the electric field at some earlier time; different
effects/influences take time to propagate in the material. So, we should refine the causality in the above
formulas.

13.2 Refinement of Polarization Formula

A more realistic model would have that ⟨P⟩ (t, x) can be influenced by ⟨E⟩ (t′, x) with t′ < t. This effect
should (for small enough E) only depend on t − t′. In particular:

⟨P⟩ (t, x) =
∫ ∞

−∞
dt′ f (t − t′) ⟨E⟩ (t′, x) (13.3)

with an example of f sketched below; it is 0 for t′ > t goes to 0 rapidly as t − t′ → ∞.

It will be helpful to fourier transform in time:〈
P̃
〉
(ω) =

1√
2π

∫ ∞

−∞
eiωt ⟨P⟩ (t) =

√
2π f̃ (ω)

〈
Ẽ
〉
(ω) (13.4)

where we use that a fourier transform of a convolution leads to a product, and f̃ (ω) is:

f̃ (ω) =
1√
2π

∫ ∞

−∞
dteiωt f (t) (13.5)

In our old/causally incorrect formula, we took f (t − t′) = δ(t − t′) in which case f̃ (ω) is a constant. In
our more interesting/sophsticated model, we have that:〈

P̃
〉
(ω) = ϵ0χ(ω)

〈
Ẽ
〉
(ω) (13.6)
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where the susceptibility takes on a frequency dependence:

χ(ω) =

√
2π

ϵ0
f̃ (ω) (13.7)

and similarly for the permittivity we have:〈
D̃
〉
(ω) = ϵ(ω)

〈
Ẽ
〉
(ω) (13.8)

with:
ϵ(ω) = ϵ0(1 + χ(ω)) (13.9)

And further similarly we have for the magnetic field that:〈
H̃
〉
(ω) =

1
µ(ω)

〈
B̃
〉
(ω) (13.10)

13.3 Complex frequencies and Kramers-Kronig Relations

We can now ask - what happens if we take ω to be complex. This may sound like a ridiculous question,
but in fact this will have very physical consequences. Suppose ℑ(ω) > 0 such that:

ω = ω1 + iω2 (13.11)

with ω2 > 0. We restrict our attention to the upper half of the complex plane. Then what happens? If we
plug this into our formula in Eq. (13.5), we get the oscillating part eiω1t from ω1 and a real exponential
e−ω2t from ω2. This goes to 0 as t → ∞ - it might be a priori concerning, but then we recall that our
function f is 0 when its argument is negative ( f (x < 0) = 0) which means that f̃ (ω) is convergent in the
UHP. Furthermore, it is a holomorphic function. In your problem set, you will derive the Kramers-Kronig
relations (for the real/part of the susceptibility):

ℜχ(ω) =
1
π

P

∫ ∞

−∞
dω′ℑ(χ(ω′))

ω′ − ω
(13.12)

ℑχ(ω) = − 1
π

P

∫ ∞

−∞
dω′ℜ(χ(ω′))

ω′ − ω
(13.13)

What is the P appearing in the above? It denotes that we take the principle value of the integrals. We
break up the integration region, remove a region of size ϵ around ω to avoid the singularity, and then take
ϵ → 0 in the end.

A remark - taking the complex conjugate of (13.5) we find:

f̃ ∗(ω) =
1√
2π

∫ ∞

−∞
dte−iωt f (t) (13.14)

where f ∗(t) = f (t) as it is real. Hence:
f̃ ∗(ω) = f̃ (−ω) (13.15)
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Thus:
χ∗(ω) = χ(−ω) (13.16)

and hence we may rewrite the Kramers-Kronig relations to be:

ℜχ(ω) =
2
π

P

∫ ∞

0
dω′ℑ(χ(ω′))ω′

ω′2 − ω2 (13.17)

ℑχ(ω) = −2ω

π
P

∫ ∞

0
dω′ℜ(χ(ω′))ω′

ω′2 − ω2 (13.18)

13.4 Absorption and Complex Indices of Refraction

This seems like something that maybe only someone in Eckhart would enjoy, but indeed this is a very
useful notion for people that actually build things with screwdrivers and work with materials etc. We first
note that χ(ω) cannot be real. Indeed, if it is the case that ℑχ(ω) = 0, then ℜχ(ω) = 0 by the Kramers-
Kronig relation. What implication does this have for electromagnetic wave propagation in materials?
Indeed, the index of refraction:

n(ω) = c
√

ϵ(ω)µ(ω) (13.19)

becomes complex, as ϵ(ω) has an imaginary part (assuming µ(ω) does not cancel this out). This implies
that EM waves are absorbed in material - they don’t just purely propagate! Indeed, if we have a wave
e−iωt+ikx with k = ω

c(ω)
= ω

c
n(ω)

= k1 + ik2, and our above argument tells us that k2 ̸= 0, so in addition

to have a spatially oscillating part eik1x we also have an exponentially decaying part e−ik2x = e−γx (one
could argue that depending on the sign of γ we could have exponential amplification instead, but it can’t
possibly be that the amplitude gets arbitrarily amplified in a material, so it must be that γ > 0). Not only
can we qualitatively conclude that there is absorption, we can calculate it explicitly. It is worth noting that
this effect is generally quite small (e.g. for things like glass) so e−γx ∼ 1 (and this is the limit in which
optical laws such as Snell’s law are derived).

13.5 Phase and Group Velocities

Recall:
vp =

ω

k
=

c
n(ω)

(13.20)

vg =
dω

dk
(13.21)

We again consider a plane wave e−i(ωt−k·x) with ω = c
n(ω)

k. A surface of fixed phase - ωt − k · x = const
propagates with velocity vp = c

n(ω)
. On the other hand, if we have a wavepacket:

ψ(t, z) =
∫

dkF(k)e−i(ωt−kz) (13.22)

which is sharply peaked around k = k0:
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We Taylor expand ω(k) around k0:

ω(k) = ω(k0) + (k − k0)
dω

dk

∣∣∣∣
k0

+ . . . (13.23)

and in the limit of small ∆ we may neglect the subleading terms. Plugging this into our expression for ψ:

ψ(t, z) =
∫

dkF(k)e−i((ω(k0)−(k−k0)
dω
dk (k0))t−kz) = e−i(ω(k0)t−k0z)

∫
F(k)e

−i(k−k0)(
dω
dk

∣∣∣∣
k0

t−z)
dk = e−ik0(vpt−z)F(vgt− z)

(13.24)
So we can see the wavepacket itself travells with group velocity vg. Let’s compute this:

vg =
dω

dk
=

(
dk
dω

)−1
=

(
d
dk

(
1
c

ωn(ω))

)−1
=

c
n + ω dn

dω

(13.25)

Where the ω dn
dω contribution can make the group velocity differ from the phase velocity.

Note that if n(ω) < 1, then vp > c. How does this not violate the idea of causality? Well, the bound
of causality is set by the fact that if we set initial conditions at some point, then they can only influence
things within the causal lightcone (bounded by the speed of light). But plane waves permeate through all
space through all time, and there is no information contained in the wave - so there is no a priori reason
why the phase velocity needs to be bounded by the speed of light.

13.6 Lorentz Model for ϵ(ω)

This is a particularly simple model for the permittivity of a material - it isn’t perfect, but can give us some
intuition. Consider a case where we have no free charges/currents and the permeability has no frequency
dependence: 〈

ρ f

〉
= 0 (13.26)〈

J f

〉
= 0 (13.27)

µ(ω) = µ0 (13.28)

so the star of the show is ϵ(ω). What happens when we hit the material with an oscillating E/B field? The
electrons in the material act as an oscillator.

So let us write their equation of motion as:

mẍ + mγẋ + mω2
0(x − x′0) = eE (13.29)

where γ is the damping, ω0 is the natural oscillation frequency of the electron, and x′0 is the equilibrium
position. We use this model to consider three cases:

1. Non-conducting medium. In this case ω2
0 > 0 as the electrons experience a restoring force.

2. Plasma. In this case there is no restoring force (electrons are free to propagate), so ω2
0 = 0, but we do

have damping, so γ > 0.

3. Conductors. In this case, we have unbound electrons with ω2
0 = 0 and bound electrons with ω2

0 > 0.

Next time we continue to study this model - it’s quite primitive, say, compared to what you may study
in a condensed matter course, but it will give us some intuition about the EM response of materials.
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14 Lorentz Model for Permittivity

Recall that in the dynamical case when materials are subject to time-varying electric/magnetic fields, our
work in the static regime no longer applies - in particular going to the dynamic case the permittivity picks
up a frequency dependence ϵ(ω). We assume

〈
ρ f

〉
=
〈

J f

〉
= 0 and µ(ω) = µ0.

Individual charges in the material satisfy:

mẍ + mγẋ + mω2
0(x − x0) = −eE (14.1)

We consider a couple cases:

• Non-conducting (ω2
0 > 0)

• Plasma (ω0 = 0, γ > 0)

• Conductors (ω2
0 > 0 for the valence electrons, other electrons are bound)

In this setup, we discuss how each of the quantities we introduced last time behave.

14.1 Solving for the Lorentz permittivity

We assume a sinusoidally varying electric field:

E = e−iωtÊ(ω) (14.2)

Working in frequency space:

m(−ω2 − iωγ + ω2
0)x̂(ω) = −e

〈
Ê(ω)

〉
(14.3)

Studying the dipole moment:
p(t) = −ex(t) (14.4)

The fourier transform of which, using Eq. (14.3) equals:

p̂(ω) =
e2/m

ω2
0 − ω2 − iωγ

〈
Ê(ω)

〉
(14.5)

The x, p we discuss are for a particular particle, so we can sum over different particles. If we then combine
this with: 〈

p̂(ω)
〉
= ϵ0χ(ω)

〈
Ê(ω)

〉
(14.6)

we obtain:

χ(ω) =
e2

e0m ∑
j

Nj

ω2
j − ω2 − iωγj

(14.7)

where Nj is the number of electrons in state j.
Note that χ(ω) can be analyticcally continued to ω in the upper half plane, which yields the Kramers-

Kronig model we discussed.
the permittivity is obtained as:

ϵ(ω)

ϵ0
= 1 + χ(ω) = 1 + ∑

j

Nj

ω2
j − ω2 − iωγj

(14.8)

for the next half hour, we discuss the implication of the above formula for physics.

66



14.2 Lorentz conductivity

The current in matter is:

⟨J⟩ =
〈

J f

〉
= ∇× ⟨M⟩+ ∂

∂t
⟨p⟩ (14.9)

We assume no free currents, and ⟨M⟩ = 0 since we take µ(ω) = µ0. So:〈
J(x, t)

〉
=

∂

∂t
〈
p(x, t)

〉
(14.10)

or in frequency space: 〈
Ĵ(ω)

〉
= −iωϵ0χ(ω)

〈
Ê(ω)

〉
= σ(ω)

〈
Ê(ω)

〉
(14.11)

with σ(ω) the conductivity. Thus:

σ(ω) = −iω
e2

m ∑
j

Nj

ω2
j − ω2 − iωγj

(14.12)

which is V = IR on steroids.

14.3 Different Cases

Note that this is in no way an exact model, but we can explore its implications given its simplicity and the
fact that it is analytically solvable.

• Non-conducting medium. In this case ω2
j > 0 and γj ≪ ωj, i.e. the oscillators are heavily under-

damped. For most ωs, it is the case that σ(ω) is approximately real, and as ω → ωj the imaginary
part of σ(ω) grows, leading to absorption.

Let’s study the real part of the susceptibility:

Re[χ(ω)] ∼ Re
1

ω2
j − ω2 − iωγ

=
ω2

j − ω2

(ω2
j − ω2)2 + ω2ω2

j
(14.13)

for ω < ωj, this is positive and for ω > ωj, this is negative.
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What is the significance of this? Recall that:

n(ω) =

√
ϵ(ω)

ϵ0
(14.14)

so
dn
dω

is negative in some range ω, corresponding to anomalous dispersion. c.f. normal dispersion

with
dn
dω

> 0, which occurs in water and glass. From Snell’s law, we know that blue light is

deflected more than red (for anomalous dispersion, the opposite holds). Note that looking at ϵ(ω)
(specializing temporarily to γ = 0) then:

ϵ(ω) = 1 +
e2

ϵ0m ∑
j

Nj

ω2
j − ω2

(14.15)

so ϵ(ω) also has places where it is a growing function of ω and so
dn
dω

> 0.

Note that we can have cases where phase velocity is faster than the speed of light, and there are
even cases where the group velocity is faster than the speed of light. Of course, it is impossible to

transmit information faster than the speed of light - so what happens here? If
dω

dk
> c, then we are

tuning very close to resonance, in which case we have heavy absorption.

Question - why is normal dispersion more prevalent in nature? To answer is the Kramers-Kronig
relation. Recall:

ℜ[χ(ω)] =
2
π
P
∫ ∞

0
dω′ℑ[χ(ω′)]ω′

ω′2 − ω2 (14.16)

If ℑ[χ(ω)] > 0 we have attenuation. If we differentiate this formula w.r.t. ω2 we have:

dℜ[χ(ω)]

dω2 =
2
π
P
∫ ∞

0
dω′ℑ[χ(ω′)]2ωω′

(ω′2 − ω2)2 (14.17)

so we seemed to have proven that all material has normal dispersion - in contrast to the fact that we
just showed that the Lorentz model can give rise to anomalous dispersion (and in fact real materials
also show this)! Where did we go wrong? We forgot about the principal value prescription, namely
we avoid the ϵ-ball around ω′ = ω and then take ϵ → 0 at the end:∫ ∞

0
dω′ = lim

ϵ→0

[∫ ω−ϵ

0
dω′ +

∫ ∞

ω+ϵ
dω′

]
(14.18)

So long as χ(ω) is well-behaved, then this is ok. But if ω is near a resonance of χ, e.g. ω = ωj, then
the something strange happens around the pole, and this is indeed what gives rise to the anomalous
dispersion, though we don’t have time to go into this in detail.

Note that limω→0 σ(ω) = 0, which is the sense in which the medium is non-conducting. This is the
R → ∞ limit of the DC current Ohm’s Law I = f racVR.

• Plasma/Conductor. In this limit we set ωj = 0, in which case:

ϵ(ω)

ϵ0
= 1 − 1

ϵ0

Ne2/m
ω2 + iωγ

(14.19)

assuming γ is all the same. The conductivity becomes:

σ(ω) = iω
Ne2/m

ω2 + iωγ
(14.20)
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with N the number of electrons per unit volume. In the limit ω ≪ γ, we have:

ϵ(ω)

ϵ0
= 1 + i

Ne2

ϵ0mωγ
(14.21)

and:

σ(ω) =
Ne2

ωγ
(14.22)

in particular, DC conductivity is nonzero. This agrees with our intuition that in a plasma, if we turn
on a constant electric field the charges start moving, producing a nonzero DC current J = σE. Here
you got a condensed matter class for the price of an EM class, because we’ve just derived the Drude
model of conductivity, which is what most CM classes open with.

The permittivity is:
ϵ(ω)

ϵ0
= 1 +

iσ
ϵ0ω

ω≪ σ
ϵ0→ σ

ϵ0ω
(14.23)

Note that | ϵ(ω)
ϵ0

| is large in this limit, and ϵ(ω) is purely imaginary. What does this all mean? If we
look at the index of refraction:

n(ω) =

√
ϵ(ω)

ϵ0
=

1 + i√
2

√
σ

ϵ0ω
(14.24)

where we have used i = ei π
2 so

√
i = ei π

4 = 1+i√
2

.

If we have a wave ψ(z, t) = ei(kz−ωt), we have k = ω
c/n , and in particular:

k = (1 + i)
√

µ0ωσ

2
(14.25)

so, we shine light on the metal, and the wave propagates with the k above; the real part corresponds
to oscillation, and the imaginary part leads to exponential decay:

ψ(z, t) = e−iωtei(Re(k)+iIm(k))z = e−iωteiz/δe−z/δ (14.26)

where:

δ =

√
2

µ0ωσ
(14.27)

where δ is the skin depth, i.e. the length scale upon which the wave decays by 1/e. What we find is
that the electric field exponentially decays in the material.

Everything we’ve said thus far is for ω ≪ γ. What happens in teh opposite limit of ω ≫ γ? There:

ϵ(ω)

ϵ0
= 1 −

ω2
p

ω2 (14.28)

σ(ω) = i
ϵ0ω2

p

ω
(14.29)

where ωp is the plasma frequency:

ω2
p =

Ne2

ϵ0m
(14.30)
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The situation is the opposite as before. We have a real ϵ(ω) and an imaginary σ(ω). Recall that:〈
Ĵ(ω)

〉
= σ(ω)

〈
Ê(ω)

〉
(14.31)

If σ is imaginary, then there is a π/2 phase difference between E ∼ e−iωt and J ∼ ei π
2 −iωt. The other

comment is that:

n(ω) =

√
ϵ(ω)

ϵ0
=

√
1 −

ω2
p

ω2 (14.32)

which is real for ω > ωp. In this region, n(ω) is an increasing function of ω (normal dispersion).
The flip side is that for ω < ωp, then n(ω) is imaginary, and we have the penetration/decay length:

δ =
c√

ω2
p − ω2

(14.33)

This is physically relevant in that radio waves are reflected by the ionosphere.

15 Magnetohydrodynamics (MHD)

15.1 Assumptions of the Theory

Today, we answer the question - what happens when we take a plasma and subject it to a large magnetic
field B? We make the following set of assumptions

• The plasma can be treated as a fluid (what this means in practice will soon be discussed).

• This fluid is conducting.

• The motion of the fluid is non-relativistic.

• E(x, t), B(x, t), v(x, t) - we’ve erased the ⟨·⟩ signs on E, B to be uniform with the literature (in actuality,
all are averaged). We want all three fields to vary slowly on microscopic timescales. What is this?
Well, our plasma is a bunch of free electrons moving under the influence of B. We have a collision
time τ, as well as a circular motion period T. We assume that the fields vary slowly with respect to
these.

15.2 Maxwell theory

We take an opposite approach to what we did before; previously we said ρ f = 0, J f = 0 and folded this
all into the dipole moment p. Now, we take ρ f , J f to be the heroes of the story.

Before, if we had an electron moving with velocity v, we interpreted this as a dipole:

p = −ex (15.1)

but now, we say that this gives rise to a current:

J = −ev (15.2)

instead of folding it into p. To remind you why this gives rise to the same physics:

⟨J⟩ = ∂ ⟨p⟩
∂t

+
〈

J f

〉
+∇× ⟨M⟩ (15.3)
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Last week, we said that ⟨J⟩ was zero and we said that
∂ ⟨p⟩

∂t
= −ev. Now, we say

∂ ⟨p⟩
∂t

= 0 and〈
J f

〉
= −ev (in principle the vs should be averaged, here). Dropping the averages, the Maxwell equations

in matter look like:
∇ · B = 0 (15.4)

∇× E + Ḃ = 0 (15.5)

∇ · D = ρ (15.6)

∇× H − Ḋ = J (15.7)

where:
D = ϵ0E (15.8)

H =
1

µ0
B (15.9)

15.3 Fluid dynamics

In addition to the Maxwell equations, we have the theory of fluids, so let’s review some fluid mechanics17.
To this end, we think about the mass density ρm(x, t), the fluid velocity v(x, t), and pressure p(x, t).
Again, in principle we put averages everywhere - but its implicitly understood that all of these quantities
are averaged over.

Global mass conservation (mass is conserved in the non-relativistic limit) gives the local conservation
equation:

ρ̇m +∇ · (ρmv) = 0 (15.10)

We also have the Euler equation:

ρm

(
∂

∂
+ v ·∇

)
v = f −∇p (15.11)

where f = f(x, t) is the force field. One contribution to this is the Lorentz force:

fL = ρE + J × B (15.12)

and we could also have other forces, e.g. gravity. If you actually take a course on hydrodynamics, they
will make a big deal of a term we will neglect, namely viscosity. Including it we get the Navier-Stokes
equation.

Note that the Euler equation involves the differential operator:

d
dt

=
∂

∂t
+ v ·∇ (15.13)

known as the total, or convective derivative. We can think about it as taking the time derivative in the
frame moving with the liquid. Suppose F(x, t) = F(x − vt), then dF

dt = 0.

17“By review I mean I’ll tell you some things you never saw, and I can basically write whatever I want.”
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15.4 Entropy

Counting the number of equations that we have, we are actually underconstrained - we need some in-
formation about the pressure field p(x, t). To this end, we assume that the fluid is locally in thermal
equilibrium. If we look at the entropy in space and time, this is conserved:

∂S
∂t

+∇ · (Sv) = 0 (15.14)

Note that if there is dissipation of heat flow this is no longer valid, but we do not have time to discuss
what happens when we relax the notion of thermal equilibrium. We can define s = S

ρm
, and then:

ds
dt

= 0. (15.15)

How to see this? From mass conservation we have:

∂ρm

∂t
+ v ·∇ρm + (∇ · v)ρm =

dρm

d+
(∇ · v)ρm = 0 (15.16)

and dividing by ρm:
d
dt

ln(ρm) +∇ · v = 0 (15.17)

and similar manipulations tell us that:

d
dt

ln(S) +∇ · v = 0 (15.18)

and hence:
d
dt

S
ρm

= 0 (15.19)

Thus, s is a constant along the flow. It can be shown that p(x, t) only depends on ρm and s. The precise
dependence must be studied on a case-by-case basis. For an ideal gas:

d
dt

(
p

ρ
γ
m

)
= 0 (15.20)

where:
γ =

cp

cv
(15.21)

and γ = 5
3 for a monoatomic ideal gas.

15.5 Induction Equation, Removing E

So - we have a gigantic coupled system of equations, the Maxwell equations as well as the fluid dynamic
equations. Is what we said enough to solve for anything? Well, yes and no. In the Maxwell equations, we
saw the charge and current densities ρ(x, t), J(x, t) - these are sources, and so we have to specify them.

To this end, we assume that positive and negative charges do not separate on a macroscopic scale, and
hence ρ(x, t) = 0. What this means is that the lorentz force (which we take to be the only force) reduces
to:

f = fL = J × B (15.22)

The plasma is highly conductive. In a frame moving with the fluid, the particles do not accelerate, and
hence:

E′ = 0 (15.23)
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where E′ is the electric field as viewed from the frame moving with the river. We know how E, E′ are
related:

E′ = γ(E + v × B) ≈ E + v × B = 0 (15.24)

Taking the curl of the above equation:

∇× (E + v × B) = 0 (15.25)

Now using that:
∇× E + Ḃ = 0 (15.26)

we find:
∇× (v × B) = Ḃ (15.27)

known as the induction equation.
Now we look at the other Maxwell equations

∇× B − 1
c2 Ė = µ0J (15.28)

we claim we can drop the electric field term. Why? From Eq. (15.24), we have:

|E| ∼ |v||B| (15.29)

So:
E ∼ v

c
Bc (15.30)

The nonrelativistic assumption of v
c ≪ 1 then translates to:

E
cB

≪ 1 (15.31)

Then:
1
c2

∂

∂t
E

1
c2

∂E
∂x

∂x
∂t

=
v
c2

∂

∂x
E (15.32)

So then comparing with dB
dx from the curl:

cB ≫ v
c

E (15.33)

We could complain about the illegal trick, namely ignoring the ∂
∂x s, but let us assume that it also holds

with the derivatives. We now have:
∇× B = µ0J (15.34)

We can now eliminate J in the force:

f = J × B =
1

µ0
(∇× B)× B (15.35)

So then with Euler’s equation:

ρm

(
∂

∂t
+ v ·∇

)
v ==

1
µ0

B × (∇× B)−∇p (15.36)

we have four fields B, ρm, v, p which we can solve for.
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15.6 Assembling the Ideal MHD System

Assembling our four equations:

• Mass conservation:
ρ̇m +∇ · (ρmv) = 0 (15.37)

• Induction equation:
∇× (v × B) = Ḃ (15.38)

• Pressure evolution:
d
dt

(
p

ρ
γ
m

)
= 0 (15.39)

• Euler’s equation:

ρm

(
∂

∂t
+ v ·∇

)
v =

1
µ0

B × (∇× B)−∇p (15.40)

Together this is an ideal MHD system.
Now that we have assumed infinite conductivity σ → ∞; we have Ohm’s law:

J = σ(E + v × B) (15.41)

so in order to have finite current but with E + v × B we must have σ → ∞. Further, taking the curl:

∇× J = σ(−Ḃ +∇× (v × B)) (15.42)

A finite conductivity would show up in the induction equation:

∇× (v × B) = Ḃ (15.43)

with:
− 1

µ0σ
∇× (∇× B) = − 1

µ0σ
∇2B − Ḃ +∇× (v × B) (15.44)

As σ → ∞ we can drop all but the last two terms, giving the induction equation. For finite conductivity
(as we saw in the Lorentz model) the general induction equation is more complicated.

16 Magnetohydrodynamics II, Geometric Optics I

Last class, we assembled a set of equations corresponding to the ideal MHD system. One of them was the
induction equation:

Ḃ = ∇× (v × B) (16.1)

16.1 Conservation of Flux through Comoving Surfaces

Let’s talk about a consequence of this equation.
We can think about a surface, which evolves in time:
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The B-field also evolves. We can ask - what happens to the flux of the B-field as time goes by. The
statement that we will prove next is that the flux through a comoving surface is independent of time:∫

S0

B · dA︸ ︷︷ ︸
t=t0

=
∫

S1

B · dA︸ ︷︷ ︸
t=t1

(16.2)

We can imagine that the magnetic field is frozen into the fluid.
To this end, we compute:

d
dt

∫
S(t)

B · dA = 0 (16.3)

The time derivative can hit the magnetic field B as well as the surface S(t):

d
dt

∫
S(t)

B · dA =
∫

S(t)
Ḃ · dA +

δ

δt

∫
S(t)

B · dA (16.4)

Let’s understand the second term:

δ

δt

∫
S(t)

B · dA = lim
δt→0

∫
S(t+δt) B · dA −

∫
S(t) B · dA

δt
(16.5)

If we draw the surfaces at infinitesimal time apart:

We consider the volume V bounded by the surfaces + a ribbon of width |v|δt. We notice that the
magnetic flux over the entirety of its boundary (which is a closed surface) vanishes:∫

∂V
B · dA = 0 (16.6)
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which follows from Gauss’ theorem and ∇ · B = 0:

0 =
∫

V
(0)dV =

∫
V
(∇ · B)dV =

∫
∂V

B · dA (16.7)

Thus, adding up the flux contributions from each face of the volume:

0 =
∫

S(t+δt)
B · dA −

∫
S(t)

B · dA + Ribbon contribution (16.8)

Computing the contribution from the Ribbon element, we write the area element dA in terms of a dl line
element:

dA = dl × vδt (16.9)

And thus the time derivative becomes:

δ

δt

∫
S(t)

B · dA = −
∫

A ribbon
B · dA = −

∫
C(t)

B · (dl × v) (16.10)

where C(t) is the curve that goes around the Ribbon.

The δt drops out because we divide by it when we take the derivative. Now:

δ

δt

∫
S(t)

B · dA = −
∫

C(t)
(v × B) · dl Stokes

= −
∫

S(t)
(∇× (v × B)) · dA (16.11)

Thus, combining all terms:

d
dt

∫
S(t)

B · dA =
∫

dA · (Ḃ −∇× (v × B)) = 0 (16.12)

where the last equality follows from the induction equation.

16.2 Wave solutions to the ideal MHD equations

We had the five equations describing an ideal MHD fluid:

∇ · B = 0 (16.13)

dρm

dt
+∇ · (ρmv) = 0 (16.14)

ρm

(
∂

∂t
+ v ·∇

)
v = − 1

µ0
B × (∇× B)−∇p (16.15)

Ḃ = ∇× (v × B) (16.16)
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d
dt

(
p

ρ
γ
M

)
=

(
∂

∂t
+ v ·∇

)(
p

ρ
γ
m

)
= 0 (16.17)

We consider wavelike solutions to this fluid. We consider as our starting point to be the static solution:

B = B0 (16.18)

v = 0 (16.19)

ρM = ρM0 (16.20)

p = p0 (16.21)

On top of this we add the perturbations

B = B0 + δB(x, t) (16.22)

v = δv(x, t) (16.23)

ρM = ρM0 + δρ(x, t) (16.24)

Then to first order in the perturbations (discarding quadratic terms in the perturbation), the MHD equa-
tions become:

∇ · δB = 0 (16.25)

∂

∂t
δρM + ρM0∇ · δv = 0 (16.26)

ρM0
∂

∂t
δv +

1
µ0

B0 × (∇× δB) +∇δp = 0 (16.27)

− ∂

∂t
δB +∇× (δv × B0) = 0 (16.28)

We look for wave solutions. There are three kinds of waves we can describe:

• Suppose B0 = 0. Then we just have a normal fluid, and get waves propagating with the speed

cs =
∂ p
∂ρ

.

• For B0 ̸= 0, we get magnetoacoustic waves (in some sense this is just a natural consequence of the
normal fluid waves, by continuity). These waves have the property that ∇ · δv ̸= 0. This means that
these waves are compressing the fluid, and they are longitudinal (c.f. electromagnetic waves which
are transverse waves).

• Alfven waves. As an example, we take B0 = B0ẑ. Taking δρm = δp = 0, δv = v1(t, z), δB = B1(t, z).
We then must have that v1 · ẑ = 0, B1 · ẑ = 0. For these waves, we have ∇ · δv = 0 (and of course
∇ · δB = 0), which tells us the waves are not compression waves/the fluid is not compressed in this
case. If we go through the math, what we find is the equations can be masssaged to the form:

v̈1 −
B2

0
µ0ρM0

v′′
1 = 0 (16.29)

which is a wave equation with the Alfven speed, describing Transverse waves:

cA =
B0√

µ0ρM0
(16.30)

77



16.3 The Geometric Optics Approximation

(Wald Ch.7) The last topic we will discuss is the connection between the description of light as an EM
wave and as light rays.

Recall the wave equation:
□ψ = 0 (16.31)

we’ve looked at ψ = Aµ, E, B. When we talk about EM waves, we talk about solutions with frequency:

ψ(t, x) = χ(x)e−iωt (16.32)

If ψ satisfies the wave equation, then χ satisfies the Helmholtz equation:

∇2χ +
ω2

c2 χ = 0 (16.33)

The idea with geometrical optics are to look for solutions to this equation of the form:

χ(x) = A(x)eiS(x) (16.34)

with A(x) the amplitude and S(x) the phase. In many settings (including light), one can find solutions to
the Helmholtz equation that take this form.

Suppose we did the obvious thing and plugged in an ansatz of the above form. We would then find:

(−∇S)2 A +∇2 A +
ω2

c2 A + i(∇2S)A + 2i(∇S) · (∇A) = 0 (16.35)

The idea is to look for solutions of this equation where S varies much more rapidly than A.

So, let’s try to understand what happens under this assumption. If we want to assume:

|∇2 A|
A

≪ (∇S)2 (16.36)

This dimensionally says that:
1

L2
A
≪ 1

L2
S

(16.37)

Thus:
LS ≪ LA (16.38)
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Thus we neglect the ∇2 A term in the Helmholtz equation:

(−∇S)2 A +
ω2

c2 A + i(∇2S)A + 2i(∇S) · (∇A) = 0 (16.39)

The above equation then can be decomposed into a real and imaginary equation that must individually
be satisfied:

(∇S)2 =
ω2

c2 (16.40)

2∇S ·∇A + (∇2S)A = 0 (16.41)

Which is known as the geometric optics approximation, or also known as the WKB approximation.
Thus, if we define:

k = ∇S (16.42)

then the real part of the equation looks like:

|k|2 =
ω2

c2 (16.43)

This looks like what we have seen before when we looked at EM waves, but there is an important distinc-
tion - there, k was a fixed vector in the ansatz. Here, k is not fixed, but rather k, like S, may depend on
x.

17 Geometric Optics II

We continue our discussion of geometric optics, where we reconcile our intuitive picture of light beams
with the electromagnetic fields we have been studying.

17.1 Review of Last Lecture

We considered solutions:
ψ(t, x) = χ(x)e−iωt (17.1)

to the wave equation:
□ψ = 0 (17.2)

therein, the spatial part χ(x) satisfies the Helmholtz equation:

∇2χ +
ω2

c2 χ = 0 (17.3)

which has approximate solutions:
χ(x) = A(x)eiS(x) (17.4)

with |∇2 A| ≪ |∇S|2 A. Then:

|∇S|2 =
ω2

c2 (17.5)

And:
2∇S ·∇A + (∇2S)A = 0 (17.6)

which is known as the geometric optics (or WKB) approximation. WE can then define the vector field
k(x):

k(x) = ∇S =⇒ |k|2 =
ω2

c2 (17.7)

where k has constant length.
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17.2 Properties of k & Light Rays

The vector k is orthogonal to the surface of constant phase at x. How do we see this? Suppose we consider
a surface where S(x) = const..

Now, we consider parameterizing the surface as:

x + βx1 (17.8)

Therein, if we expand for β → 0:

0 = S(x + βx1) = S(x) + βx1 ·∇S(x) (17.9)

So:
x1 ·∇S(x) = x1 · k(x) = 0 (17.10)

Let us consider the integral curves x(α), defined by:

dx
dα

= k(x) (17.11)

Where k(x) is parallel to the curve at each point, and a single point x(0) specifies which light ray we
are on. We call these curves light rays. What we notice is that these light rays are orthogonal to the surfaces
of fixes S, for all x.

We drew the light ray as a curved line in the above sketch, but it turns out that all light rays are actually
straight lines (so long as n = 1/the index of refraction is 1, which is the current setting). Let’s prove this.
We first look at:

(k ·∇)k
∣∣
i = k j∂jki = k j∂j∂iS = k j∂i∂jS = k j∂ik j =

1
2

∂i|k|2 = 0 (17.12)

So in terms of integral curves: (
dx
dα

·∇
)

dxi
dα

= 0 (17.13)
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This equation can be intepreted as (using the chain rule):

d
dα

(
dxi
dα

)
= 0 (17.14)

This means that ∂2
αxi = 0, and hence the light rays must be straight lines:

x(α) = x(0) + v(0)α (17.15)

We can write the second equation in the geometric optics approximation as:

2k(x) ·∇A + (∇ · k)A = 0 (17.16)

Let us rewrite this (using the product rule)

∇ · (A2k) = 0 (17.17)

This has the intepretation as a continuity equation; suppose we have a continuous distribution of particles
with number density ρp ∝ A2. If we consider some volume V, we can ask how many particles live in this
volume; then:

NV =
∫

d3xρp (17.18)

The particles we take to be moving with speed c in the direction of k(x). If the number of particles is
conserved, we have a conservation equation:

ρ̇p +∇ · Jp = 0 (17.19)

now, ρp ∝ A2(x) which has no time dependence, so it must be that:

∇ · Jp = 0 (17.20)

where:
Jp = A2k. (17.21)

Recalling our wave equation solutions:
ψ(t, x) = χ(x)e−iωt (17.22)

where:
|ψ|2 = |χ|2 = |A|2 (17.23)

we can see that |A|2 has the interpretation of a particle density.

17.3 Fermat’s Principle

We can generalize to situations where the index of refraction is space-dependent, n(x). The wave equation
looks like:

∇2ψ − n2(x)
c2 ∂2

t ψ = 0 (17.24)

Without going through all of the algebra, we can see that the modifications to the geometric optics equa-
tions become:

|∇S|2 =
ω2

c2 n2(x) (17.25)

2∇S ·∇A + (∇2S)A = 0 (no change) (17.26)
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We can again define k = ∇S, and we then obtain:

(k ·∇)k =
ω2

c2 n∇n (17.27)

So then:
d2x
dα2 =

ω2

c2 n∇n (17.28)

and:
|dx
dα

| = ω

c
n(x) (17.29)

We can consider an action:

S =
∫

dλn(x)

√
dx
dλ

· dx
dλ

(17.30)

If we were to write the Euler-Lagrange equations for this action, we get precisely the equations for the
integral curves. Why are we excited about this? This action has a very nice physical interpretation.

If we have a particle propagating in space along this curve and it travels with speed v = c
n(x) , S can be

thought of as the elapsed time.
Suppose we consider the time it takes for a light ray to reach A to B. The lower bound is precisely

given by the extrema of the above action - this gives rise to Fermat’s principle; light rays are minima of the
elapsed time functional, with the speed of propagation c

n(x) .
If Kutasov had another problem set to give, he would give the following problem; consider the setup:

For each possible trajectory we can compute the elapsed time. But the trajectory that minimizes the
elapsed time is given by Snell’s law:

n1 sin θ1 = n2 sin θ2 (17.31)
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17.4 Back to Electromagnetism

We’ve been looking at the wave equation, but we should specify back to the theory we are actually
studying. There, we have that the gauge potential satisfies the wave equation:

□Aµ = 0 (17.32)

and we work in the Lorentz gauge:
∂µ Aµ = 0 (17.33)

Let us write the same kind of ansatz we did before with ψ:

Aµ(x, t) = Fµ(x)e−iωt (17.34)

the gauge symmetry allows us to fix A0 = 0 via an appropriate gauge transformation Aµ → Aµ + ∂µα.
So, we only need worry about the vector potential, where the Lorentz gauge condition now tells us that:

∇ · A = 0. (17.35)

We have:
A(t, x) = C(x)eiS(x)e−iωt (17.36)

The geometric optics equation give us:

|∇S|2 = |k|2 =
ω2

c2 (17.37)

2(k ·∇)C + (∇ · k)C = 0 (17.38)

and ∇ · A = 0 tells us that:
k · C = 0 (17.39)

Define light rays as integral curves of k as before, where note C ⊥ k for all x.

We could wonder whether C could change direction in the plane orthogonal to k. But in fact the
direction of C does not change along a light ray. We study:

d
dα

C(x(α)) =
∂C
∂xi

∂xi
∂α

= (k ·∇)C (17.40)

Using Eq. (17.38):
d

dα
C = −1

2
(∇ · k)C (17.41)

so ∂αC points in the direction of C, and it does so for all α; we conclude that C does not change direction
as we move along the light ray (though it may change its magnitude).

Note that EM has an analogous conservation equation as we discussed in the general case:

∇ · (|C|2k) = 0 (17.42)
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Finally - in a lab we measure E, B. Computing:

E = −Ȧ = −iωC(x)eiS(x)e−iωt (17.43)

B = ∇× A = ik × CeiS(x)e−iωt (17.44)

hm - what about the terms where the derivative acts on the C? Yes, there is such a ∼ ∇× C term, but
we may neglect it because all of this is done in an approximation where the amplitude varies much more
slowly than the phase |∇2C|2 ≪ |∇S|2|C|, so we may drop this term.

So, we have a very familiar situation. The wave propagates in the k direction. The electric field is in
the C direction orthogonal to k, and the magnetic field is ∼ k × C so it is orthogonal to the other two.
This is the usual statement of dealing with transverse EM waves. One can calculate the Poynting vector:

S =
1

µ0
ℜ(E)×ℜ(B) (17.45)

where:
S ∝ |C|2k (17.46)

The story with Fermat’s principle, Snell’s Law works exactly the same here - we can introduce a nontrivial
index of refraction n(x) exactly in the same way. Actual light rays are indeed described by the same
Lagrangian, because all of the complication of looking at the gauge potential Aµ does not enter.
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